Air Slide Table

Series MIXS

26, 98, 912, 816, 820, 825

Work table and air cylinder are integrated compactly.
Air slide table is ideal for precise assembly. cL

With shock absorber and MLGC
Repeatability of work mounting - Symmetric styles are released. [CNA
Pin holes for positioning > i = CT

b B

Thread for work mounting
Helisert is used for improved strength.

Axial mounting
Is possible CXT

Since there is suitable setting pre-
pressure for the unused cross roller guide, MX
axial mounting is possible. L

Flush mountable
auto switches

An installed auto switch in the
housing groove of the body is flush
with the surface.

d : MXU
Dual piston rod Body mounting MXS
The dual piston rod ensures Pin holes for positioning
twice the thrust of the current [
cylinder. ( y | % % MXQ
HE! it —
%S T 0O oD+ MXF
MXW
Threaded for body mounting —
MXP
Mounting is possible in three directions. —
Val'i ous o ptl ons 1. Side mounting (Body tapped) | 2. Side mounting (Body through hole)| 3. Axial mounting (Body tapped) MG
B Adjuster options MGP
« With stroke adjuster, With shock absorber
[l Functional options
« With buffer mechanism, With end lock MGQ
« Axial piping 7
MGG
MGC
Variations MGF
B Standard stroke (mm) ‘ I
Model (n?rrne) Stroke  [Shock absorber Functional option Auto switch CY1l
10 20 30 40 50 75 100 125 150 adjuster |(Except 26) I
MXS 6 6 Reed switch MY1

- D-A901
i i - D-A9C1V
MXS 8 8 Extension end With buffer
Solid state switch
- D-FoOI
MXS12 12
Retraction end V\/('Itzl;‘(s:dt I;)g)k -D-Fe0V
MXS16 16 P 2 color

solid state switch

- D-FOOW
MXS20 20 Both ends Axial piping - D-FOOWV

MXS25 25

3.11-1



Series MXS

Adjuster Options

Stroke adjuster

M Adjustable stroke range: 0 to 5mm

With adjuster at extension end (AS)
With adjuster at retraction end (AT)
With adjuster at both ends (A)

&
b= 2@

Adjuster at
retraction end

)| ¢

77
A

Adjuster at
extension end

{.

© o o
+Q—-0O—©-—-©
+ % +

With shock absorber

Il Absorbs the collision at stroke end and
stops smoothly.
M Enables adjustment of stroke

With shock absorber at extension end (BS)
With shock absorber at retraction end (BT)
With shock absorber at both ends (B)

M ¢ ©

Shock absorber
at retraction end
Shock absorber
at extension end

Functional Options

With buffer

Il Cushioning at the extending stroke end
protects the work and tool.
Il Auto switch is attachable at buffer section.

. +OFF under normal condition
Auto switch ( ON when buffer is operated

Condition when Magnet
buffer operating
Buffer
stroke -
B
it |
[_m
Normal
Auto switch

+ON under normal condition.
( OFF when buffer is operated.)

*ON/OFF setting can be changed with auto switch
mounting direction.

Applicable example

Buffer mechanism absorbs shock and prevents
damage to work in case the positioning is not
accurate when load is inserted.

Buffer
mechanism

|

Air gripper

Failure in
positioning

E— w
+ + re
e
K2 % %

3.11-2

)

With end lock

Il Keeps cylinder at original position and
prevents the load from dropping when
air is cut off.

Locking piston Spring

Q@%,‘ﬂf, Bﬂ_‘mj"g

=2

Table actuation

W W
When cylinder When locking
is locked. is released.

Axial piping

Il Centralized piping in axial direction saves
space around the body.

,::@ )
oer |

wif=l
=

L

Speed controller

[
o & & |
[ S —|
| i —




Al

series MXS/Precautions(l)

Be sure to read before handling.
Refer to p.0-39 to 0-43 for Safety Instructions and actuator precautions.

Selection

Mounting

/\ Caution

(Mbo not apply aload over the
operating limit range.
Select the model considering max.

allowable load and allowable moment.
Refer to p.3.11-10 and 3.11-11 for the
details. When actuator is used outside
of operating limits, eccentric loads on
guide will be in excess this causing
vibration on guide and inaccuracy, and
shortens life.

@)If intermediate stops by external
stopper is done, avoid ejection.

If ejection occurs, it may cause
damage. In case the slid table is
stopped at intermediate positions by an
external stopper then forwarded to the
front, return the slide table to the back
for just a moment to retract the stopper,
then supply pressure to the opposite
port to operate slide table.

(3Do not apply excessive forces
and impacts.

This will cause problems and possible
failure.

Mounting

|

A\ Caution

(DDo not scratch and dent
mounting side of body, table and
end plate.

The damage will result in a decrease in
parallelism, vibration of guide and an
increase in moving part resistance.

@Do not scratch and dent forward
side of rail and guide.

This causes vibration and increases
moving part resistance.

(3Do not apply excessive power

and load when work is mounted.
Vibrations on guide and moving part
resistance will result when power over
the allowable moment is applied.

@Flatness of mounting surface

should be less than 0.02mm.

Insufficient flatness of workpiece or base
to which Air Slide Table is mounted can
cause generation of play at guide section
or increase sliding resistance.

(®)select the proper connection with

the load which has external
support and/or guide mechanism
on the outside, and align it

properly.

@Avoid contact with the air slide

table during operation.

Adjuster option creates additional pinch
points which can cause injury to operator
when table is moving. Preventative
measures, e.g. installation of a cover,
should be taken to avoid such accidents.

@Keep away from objects which is

influenced by magnets.

A magnet is built in the guide block for
use with an auto switch, there for do
not use magnetic disk, magnetic card,
or magnetic tape, else data will be

When mounting an air slide

table, use appropriate length of
screws and do not exceed the
maximum tightening torque.

If tightening the screw beyond the
designated value, it may malfunction. If
tightening it insufficiently, it may result
in position sliding or falling off of air
slide table.

1. Lateral mounting (Body tapped) CL
| fAP gy ~ MLGC
CNA
Max. Max. screw-in
e =5 torque (Nm) |depth (¢ mm) CB
MXS 6 | M4 X 0.7 2.1 8 ——
MXS 8 |M4X0.7 2.1 8 CVIMVG
MXS12 | M5 X 0.8 4.4 10 —
MXS16 | M6 X 1 7.4 12
MXS20 | M6 X 1 7.4 12 CXW
MXS25 | M8 X 1.25 18 16
CXS
2. Lateral mounting (Through hole) CXT
[ MX
MXU
Max. Max. screw-in
pecs Sl torque (Nm) | depth¢ (mm)  LV/RES
MXS 6 | M3 X 0.5 1.2 11 —_—
MXS 8 | M3X 0.5 1.2 13 MXQ
MXS12 | M4 X 0.7 2.8 18.5 L
MXS16 | M5 X 0.8 5.7 24
MXS20 | M5 X 0.8 5.7 29 MXF
MXS25 | M6 X 1 10 34 MXW
3. Axial mounting (Body tapped) 7
MXP
MG
MGP
MGQ
MGG
Max. Max. screw-in
pecs Sl torque (Nm) | depth ¢ (mm) MGC
MXS 6 | M2.5X0.45 0.5 3.5
MXS 8 | M3 X 0.5 0.9 4 MGF
MXS12 | M4 X 0.7 2.1 6 —
MXS16 | M5 X 0.8 44 7 CYl
MXS20 | M5 X 0.8 4.4 8 —
MXS25 | M6 X 1 7.4 10 MYl

3.11-3




Al

series MXS/Precautions(2)

Be sure to read before handing.
Refer to p.0-39 to 0-43 for Safety Instructions and actuator precautions.

] Mounting

] Environment

] Precautions for Adjuster Option

/\ Caution

1.Front face mounting
l
2
7
Max. Max. screw-in
blcte Eel torque (Nm) | depth ¢ (mm)
MXS 6 | M3 X 0.5 0.9 5
MXS 8 | M4 X 0.7 2.1 6
MXS12 | M5 X 0.8 4.4 8
MXS16 | M6 X 1 7.4 10
MXS20 | M6 X 1 7.4 13
MXS25 | M8 X 1.25 18 15
2.Top face mounting
Guide
N [ ‘
7,
A\ Caution
When attaching work to guide, use a bolt which
is at least 0.5mm shorter than the maximum
thread depth. Longer bolts can cause
malfunction due to contact with guide bearings.
Max. Max. screw-in
iEe s Bet torque (Nm) | depth ¢ (mm)
MXS 6 | M3 X 0.5 0.9 4
MXS 8 | M3 X 0.5 0.9 5
MXS12 | M4 X 0.7 2.1 5.5
MXS16 | M5 X 0.8 4.4 6
MXS20 | M5 X 0.8 4.4 10
MXS25 | M6 X 1 7.4 13

A\ Caution

(DDo not use in atmosphere where
the actuator contacts directly
the liquid such as cutting oil.

Conditions where the cylinder piston rod
and guide shafts are exposed directly to
cutting oil, coolant and oil mist lead to
vibration, increase of moving part
resistance, air leakage, etc.

(2)Do not use in atmosphere where
the actuator contacts directly
the material such as powder
dust, dust, spatter etc.

This causes vibration, increase of moving part
and air leakage. Consult SMC when the use
in such environment is required.

(3)Do not use in direct sun light.

@Do not use in environment
where there is heat source.

Use a cover when there is a heat source
around the actuator, or if temperature of
product increases and exceeds operating
temperature range by emissive heat.

(5)Do not subject it to excessive
vibration and/or impact.
This results in damage and/or malfunction.
Contact SMC if the actuator is used in the
above conditions.

| Precautions for Adjuster Option

|

Stroke adjuster

(UThe positioning hole on the
table and the positioning hole at
the bottom of the body do not
have the same center.

Use these holes during
reinstallation after the table has
been removed for the
maintenance of an identical
product.

3.11-4

/A\ Caution

(DNever replace the original
adjuster bolts.

Impact energy causes play, damage,
etc.

(2)Refer to the below table for lock
nut tightening torque.

If the lock nut is not tightened sufficiently, it
leads to low positioning accuracy.

Stroke adjuster

/\ Caution

(3When stroke adjuster is
adjusted, do not hit the table
with the wrench.

This can cause excessive play.

With shock absorber

/\ Caution

(Do not rotate the screw set on
bottom of shock absorber.

This is not the screw for adjusting. If
this screw is rotated, it may cause oil
leakage.

(2Do not scratch the exposed
portion of the piston rod.
Decrease in life or malfunction may
result.

Bottom screw

Piston rod Do not rotate

Do not damage.

(3)shock absorber is considered a
consumable component. When energy
absorption is decreased, replace it.

Model Part No. of shock absorber
MXS 8 RB0805
MXS12 RB0806
MXS16 RB1007
MXS20 RB1411
MXS25 RB1412

(®Refer to the below table for
tightening torque for lock nut of

Model Tightening torque (Nm)
MXS 6 3.0 shock absorber.
MXS 8 5.0 Model Tightening torque (Nm)
MXS12 12.5 MXS 8 167
MXS16 25.0 MXS12 )
MXS20 43.0 MXS16 3.14
MXS25 69.0 MXS20
MXS25 108




series MXS/Precautions®
Be sure to read before handling.

Refer to p.0-39 to 0-43 for Safety Instructions and actuator precautions.

] Precautions on Functional Option

With end lock With buffer mechanism
/A Caution ~ A\ Caution

12 position, 4 or 5 port solenoid i (DWhen mounting the air slide table
valves are recommended. ‘ with buffer it must be oriented as
shown in the sketch below.

When mounting horizontally, operation

of the buffer is dependent on the speed
and the load. Auto switch should be set
according to the buffer stroke used,

Recommended pneumatic circuit subject to the speed and load.

4

=

M

=

5]

Air slide table

w

@Be sure to use meter-out speed
control valves.

@When releasing the end lock
manually, be sure that air
pressure is released.

If the end lock is disengaged
while air pressure remains in the
cylinder, the piston could lurch
suddenly, causing damage to
the workpiece.

Horizontal use

@Auto switch for buffer/Correct
mounting position for detection
at the end of stroke.

Normally
'\l OFF

rHow to release end lock Ll
* Prior to work, be sure that air pressure S====1
is released. $ * ¢
(DPush down the lock piston pin. ¢@ —
(2)slide the table forward.
[0 & oo
I
|| B

Normally
ON

* Adjust the switch position according to load

and speed.
(Unit: mm)

Model A B
MXS 6 2

MXS 8 2.5

MXS12 4 3
MXS16 5

MXS20 5.5

MXS25 10

3.11-5




Air Slide Table

series MIXS

How to Order

wn

s 2B Hean

Bore size (Stroke mm)

Number of auto switches

6 (10, 20, 30, 40, 50 —_— | 2

8 |10, 20, 30, 40, 50, 75 S | 1

12 |10, 20, 30, 40, 50, 75, 100 n | n
16 |10, 20, 30, 40, 50, 75, 100, 125

20 |10, 20, 30, 40, 50, 75, 100, 125, 150 ® Auto switch

25 |10, 20, 30, 40, 50, 75, 100, 125, 150 — | Without auto switch

+ Refer to below table for parts No. of auto switch.

Stroke adjuster option e

— | Without adjuster ® Functional option
AS | Adjuster at extension end — Standard
AT | Adjuster at retraction end F With buffer
A Adjuster at both ends R? With end lock
BS™ | Absorber at extension end P Axial piping
BT" | Absorber at retraction end FR®| With buffer, end lock
B“ | Absorber at both ends FP With buffer, axial piping
Note 1) Shock absorber is not Note 2) End lock option is not available
available for series for series MXS6.
MXS6. . . . ) )
Combination of Options O: Possible X: Not possible
Functional
_ __option| — F R P FR FP
Adjuster option
— O O O O O O
AS O o O O ov o
AT O O X X X X
A @) o® X X X X
BS O X O O X X
BT O O X X X X
B O X X X X X

style, the buffer stroke is shortened by the adjusted length with the stroke adjuster

Q Note 3) For combination of buffer mechanism style and stroke adjuster at extension end
at extension end.

Applicable Auto Switches refer to p.5.3-2 for further information on auto switch.

S Load voltage Auto switch model | Lead wire o
Styl Special functi Electrical § Wiring Electrical entr (m) Load Specification
yle pecial function entry 2 (Output) DC AC : _y 0.5 S oa details
5 Perpendicular| In-line = | L
No ) 5v,12V | <100V | A9OV | A90 ® | @ [Ccircit|Relay
Reed ] 2 wire 24V PLC '
switch e Grommet ves 12v 100V | A93V A93 [ ] o — P.5.3-19
3 wire (NPN)| — 5V — A96V A96 [ ] @ |ICcircuit| —
3 wire (NPN) FONV | FON e | o
- 3 wire (PNP) FOPV | FO9P e | o P.5.3-39
Solid ;
2 wire F9BV F9B
state Grommet | Yes - 24V | 12v — L ® | |Relay,
switch 3 wire (NPN) FONWV | FONW [ ) [ ] PLC
DiagnOétic ilnd;cation 3 wire (PNP) FOPWV | FOPW | @ | @ P.5.3-66
color
2 wire FOBWV | FOBW [ [
Note 1) Lead wire length 0.5m:weeeeene — (Ex.) A93 PLC: Programmable Logic Controller
Q BMvveeeennneens L A93L

3.11-6



Specifications

Air Slide Table Series MIXS

Bore size (mm) 6 8 ‘ 12 ‘ 16 20 ‘ 25
Port size M3 X 0.5 M5 X 0.8 Rc(PT)1/8
Fluid Air
Action Double acting

Operating pressure

0.15 to 0.7MPa

Proof pressure 1.05MPa
Ambient and fluid temperature —-10 to 60°C o
Piston speed 50 to 500mm/s CL
: Rubber bumper (Standard, With stroke adjuster)
Cushion
Shock absorber (Option) MLGC
Lubrication Not required
: : : CNA
Reed switch (2 wire, 3 wire) L
Auto switch (Option) Solid state switch (2 wire, 3 wire)
2 color solid state switch (2 wire, 3 wire) CB
Stroke length tolerance +é mm
CVIMVG
Option CXW
Adjuster at extension end (AS) CX S
With stroke adjuster | Adjuster at retraction end (AT) Adjustaglfos;:I;:e range [~ —
Adjuster at both ends (A) CXT
Stroke adjuster . I
option Absorber at extension end (BS) Shock absorber | t —
) . ock absorber is no
With shock absorber | Absorber at retraction end (BT) available for MXSE. MX
Absorber at both ends (B)
With buffer (F) MXU
. ’ ; End lock is not available
Functional option With end lock (R) for MXSB. MXS
e . Axial piping (P)
der —
Made to Order Specifications
Q* For details of adjuster and functional options, please refer to “Optional specifications” on p.3.11-24 to 3.11-26. MXQ
Refer to p.5.4-89 for “Made to Order Specifications” of
series MXS. —» IN MXF
Theoretical Force ouT [T —1 —
The dual rod ensures an output twice that of existing cylinders. (Unit: N) MXW
Bore size  |Rod diameter | Operating Piston area Operating pressure (MPa) 7
(mm) (mm) direction (mm?) 02|03 |04 |05 |06 |07 |MXP
ouT 57 11 17 23 29 34 40 —
6 3 IN 42 8| 13| 17| 21| 25| 29 MG
8 4 ouT 101 20 30 40 51 61 71 —————
Standard Stroke IN 75 15| 23| 30| 38| 45| s3 |MGP
MXS 6 | 10, 20 30, 40, 50 IN 170 34| 51| 68| 8 102 [ 119 |MGQ
MXS 8 |10, 20, 30, 40, 50, 75 16 8 ouT 402 80 | 121 | 161 | 201 | 241 | 281 E
MXS12 | 10, 20, 30, 40, 50, 75, 100 IN 302 60 91 | 121 | 151 | 181 | 211
MXS16 20 10 ouT 628 126 | 188 | 251 | 314 | 377 | 440
10, 20, 30, 40, 50, 75, 100, 125 IN 471 94 | 141 | 188 | 236 [ 283 | 330 |MGC
MXS20 | 10, 20, 30, 40, 50, 75, 100, 125, 150 o i ouT 982 196 | 295 | 393 | 491 | 589 687 e —
MXS25 |10, 20, 30, 40, 50, 75, 100, 125, 150 IN 756 151 | 227 | 302 | 378 | 454 | 520 |MGF
Note) Theoretical force (N)=Pressure (MPa) X Piston area (mm?) ——
CY1l
Welght (Unit: g) —
Standard stroke (mm) Extra for options MY1
Model Extension | Retraction | EXiension | Retraction End Axial piping
10 20 30 40 50 75 100 | 125 150 adjuster adjuster agggrcbker asggrcbker Buffer lock S: Stroke (mm)
MXS 6 80 | 100 | 115 | 155 | 180 | — — — — 10 5 — — 30 — 13+0.15S
MXS 8 | 150 | 160 | 190 | 235 | 285 | 415 | — — — 15 9 35 45 40 40 26+0.17S
MXS12 | 340 | 340 | 340 | 400 | 500 | 690 | 930 | — — 30 20 50 60 80 90 43+0.21S
MXS16 | 600 | 600 | 610 | 670 | 800 | 1150 | 1450 [1800 | — 50 30 80 105 120 160 55+0.21S
MXS20 | 1000 | 1020 |1050 | 1150 | 1300 | 1700 | 2250 |2800 | 3350 100 71 170 205 140 310 166+0.45S
MXS25 | 1720 | 1740 | 1750 | 1900 | 2160 | 2750 | 3400 |4300 | 4900 150 125 215 300 240 540 240+0.45S

3.11-7



Series MXS

Table Deflection

Table deflection by pitch moment
Table pitch deflection due to static pitch moment
applied at arrow for fully extended stroke of slide table

|

Table deflection by yaw moment
Table yaw deflection due to static yaw moment applied at
arrow for fully extended stroke of slide table.

Table deflection by roll moment
Table roll deflection arrow A due to static roll moment applied
atarrow Fwhen Lr=(see table) and table is retracted.

]

—

F

]

(=—7

Q =
> |‘§7

26

Q
o

. .
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: :
: ' Lr=24mm
; ;
0.04 : 0.04 ! 0.020
; ;
: :
: :
T 003 € 003 £ 0015
£ b E CLE
c ' c ' c
S MXS6.30 e} ] MXS6-10 | MXS6-20 MXS6-30
54 MXS6-50 | MXS6-40 ¥ : 8 18
2 002 MXS6-20_{ 1 1 | & o0.02 MXS6-30—— | | @ 0.010 / /‘I
% Y MXS6-10 ' 5 MXS6-50 MXS6-40] pmxs6.20 ' 5 /
o yd bl A~ MXS6-10 bl MXS6-40
o 7 e e 4 f
3 / / =] 1 =] /1 |_—T wixses0
= o001 / : = o.01 '  0.005 /
: ' |
; ;
/ / ! ! A
; ;
; ; V. =
0 10 20 30 40 | 0 10 20 30 7 0 10 20 30
; ;
Load (N) : Load (N) : Load (N)
; ;
: :
; ;
28 - 28 . 98 Lr=50mm
0.05 f i 0.04 0.020
MXS8-75 MXS8-50 ; ;
; ;
0.08 / ! ! MXS8-10
g - / 1 g 0.03 1 ,g 0.015 MXS8-20 MXS8-30 MXS8-40 MXS8-50
MXS8-40 : :
= N ¢ Mxsg-50 [ 1|
S 0.03 : S X MXS8-40 i S 4
3 e - W Mxse30 | 1| E // /
2 / MXS8-30 ' 2002 / MXS8-20 : ©0.010 V4 MXS8-75
5} MXS8-20 ' 15} ' 15}
2002 | ° // / MXS8-10 I /] /
2 / 4// MXS8-10 8 L e //
= / [~ L —T ¢ | Foo1 L | = o005
0.01 ‘ [ — ‘ L/
T — : :
— : :
; ;
0 20 40 60 80 : 0 20 40 60 80 : 0 20 40 60
; ;
Load (N) ; Load (N) ; Load (N)
; ;
: :
: :
; ;
ﬂlZ ' Q12 ' Q12 Lr=65mm
0.10 ' 0.04 ' 0.035
; ;
0.030
0.08 ' '
—~ - MXS12-75
£ MXS12-100 MXS12-75 [ £ 003 Wacioto] | go 025
5 ' £ MXS12-100 MXS12-40 | E" MX512-10
P : P / MXS12-30] | s MX$12-20
S 006 i s MXS12-20] | 5 MXS12-30 MXS12-40 MXS12-50 | MXS12-75
= ! = ! = 0.020 v
3 13 002 8 / |
% s : % MXS12-10 : = 0,015 ) / MXS12-100
° 1 ° : < U
L v wepe s s S 1
5 |_—mxsi230| : |8 | S o010 /]
= / MXs1220| i | F o001 Lo F //
0.02 MXS12:107 | 0,005 Y/ 1
] | : : '
; ;
0 20 40 60 80 100 120 3 0 20 40 60 80 100 120 3 0 20 40 60 80 100 120
Load (N) : Load (N) : Load (N)
; ;

3.11-8



Air Slide Table Series MIXS

Table defection by pitch moment
Table pitch deflection due to static pitch moment applied
at arrow for fully extended stroke of slide table

Table deflection by yaw moment
Table yaw deflection due to static yaw moment applied
at arrow for fully extended stroke of slide table.

Table deflection by roll moment
Table roll deflection arrow A due to static roll moment
applied at arrow F when Lr= (see table) and table is
retracted.

A F

I 3

o
e
o
B
o
oXwW-
o
o1
W
WU
MXS

.
:
:
:
:
:
:
:
:
:
| B . .
:
! Lr
[=—" ‘
:
:
:
:
g16 g16 : g16 Lr=89mm
— T ' T
0.14 ‘ ‘ 0.04 1 1 : 0.035 J
MXS16-100 ; MXS16-1
012 ,MXS16-125 MXS16-100 e . 0,030 oo
/ MXS16-125 MXS16- 50 ' MXS16-30 MXS16-100
= = / MXS16- 40 = H
o010 i € 003 1040, ; E o025 MXS16-40 MXS16-50 MXS16-75 MXS16-125
£ / 4 E /’ P st}le- 301 L ET
'
.E 0.08 A .5 7 T T : .5 0.020 A
= 74 = / / / MXS16- 20 ' e
2 /] P e e 2002 L L Co| 2
! :
% 0.06 / > T % / // MXS16- 10 ' % 0.015 7
o / / L1 MXS16- 50 @ P ' @
S0.04 L XS16- 40 5 / s E-T
e — 1 _{mxsi6-30 = 001 e LR L
002 A — T —+—Jwnxsie-20| | : 7 : //
! — MXS16- 10 : 0.005
%’ \ :
0 50 100 150 200 :
0 100 150 200 ' 0 40 80 120 160 200
:
Load (N) Load (N) H Load (N)
:
:
:
220 220 - 220 Lr=122mm
0.10 ‘ ‘ 0.05 0.040
'
MXS20-150|  MXS20-125 ) Mxs20-100 0.035 o
~ 008 ~ 004 MXS20-150 MXS20-125 TMXS20-1001 ! | = o0 MXS20-20 MXS20-100 |
£ £ Mxsagzsl ;[ E ™ MXS20-30 MXS20-125
£ £ mxszo-50| 1 | E MXS20-40 MXS20-50 MXS20-75 MXS20-150
s / = AMX820-20| | | < 0.025 —t z.
S 006 MXS20- 75 S 003 Cls
Q@ / @ . ' @ 0.020
3 / /] £ N el g 7 -
S 004 . S 002 IXs20-201 1 | O /|
> O 7 MXS20- 50 > Ll b | @ 0015 -
= / MXS20- 40 = / P (2 / //
[ [ ' © /
i / / L — MXS20- 30 e ) / 1 — I T g
002 A MXS20- 20 0.01 Z ‘ "z
il z ‘ 0.005 4,
'
:
0 100 200 300 0 100 200 300 | 0 40 80 120 160 200 240
Load (N) Load (N) ; Load (N)
:
:
:
:
325 225 - 925 Lr=154mm
007 } } { 0.05 ; 0.040 i
MXS25-150 MXS25-125 MXS25-100) :
0.06 7 y. ' 0.035 XS25-10
/ MXS25-150 MXS25-125 | MXS25-100( ! MXS25-20 MXS25-100
—~ . 0.04 ‘ = MXS25-30 MXS25-125
£ 005 / £ ‘/ MXS25-75| g 0.030 MXS25-40 MXS25-50 TMXS25-75~ MXS25-150
y ' y
= MXS25- 75 = / f L E /
MXS25-50 | 0.025
5 0.04 / A d | § 003 o /‘ Mxsz5-40] | | § / / /'
8 / / / MXS25850) 8 ;/ AN/ // 7 b | 8 o020 /
2 MXS25- 40 = 7 -2
D 0.03 T 4 Mxs25-30| ! | B
o I [ o // / 1 i : © / / /
o L MXS25- 30 @ 002 V71777 MXS25-20]| | @ 0.015 / 7
Q = / o /
5 002 T MXS25- 20 = N/ A~ Mxs?s-10] | | 8 /
— / |_—T——T__{MXxs25-10 [ / L ' = 0.010
= Ney 2= J I/
= = 0.005
:
0 100 200 300 400 '
0 100 200 300 400 ' 0 50 100 150 200 250 300
Load (N) Load (N) ' Load (N)
'

3.11-9

MXQ
WXF
o
WP
VG |
=3
6Q
MGG
woe
WoF
o
Wi




Series MXS
How to Select

Selection Flow Chart Formula and Data Selection Example

GOperation conditions

Enumerate the operating - Model used gyli?fder: ’l\QAA;(blG-jt-)S
iti i - Cushion style ushion: Rubber bumper
conditions according to y S O o

- Work mounting position

mounting position and work . e Mounting: Lateral wall mounting
form. - Mounting position Average speed: Va=300 [mm/s]
- Average speed Va (mm/s) Load W=10[N]
- Allowable load W (N): L1=10mm
- Over hang Ln (mm): tgfggmm
9 Kinetic energy
-l W Vo
Calculate kinetic energy E (J) 2 9.8°1000 g= L 1(ﬂ) -0.088
of work. Collision speed V=1.4 - Va 2 1000
N #) Corrected coeficient V=1.4 X 300=420
Calculate allwable kinetic Ea= K E max
energy Ea (J). Ea=1-0.11=0.11
Check that kinetic energy Work mounting coeficient K: [FEJ] Possible to use by E=0.0
of work does not Max. allowable kinetic energy Emax: RECIEES '
exceed allowable kinetic energy. Kinetic energy (E)<Allowable kinetic energy (Ea)
g Load rate
Load rate of work
Calculate static work Wa (N) Wa=K § Wmax Wa=1 X 1 X 4=4
Work mounting coeficient K: K=1
Allowable load coeficient 3: [S]ETalF B=1
Calculate load rate O of Max. Allowable moment Wmax: REUIEW Wmax=4
static work. OL=W/Wa Ol1=1/4=0.25
Load rate of static moment
Rolling
Examine My Examine My
Calculate static moment M=W(Ln+An)/1000 My=1 X 9.8(10+30)/1000=0.39 My=1 X 9.8(10+30)/1000=0.39
Me (Nm). Corrected value for center position A3=30 A6=10
Calculate allowable stati distancelofimonentyan I REbICRe May=1 X 1 X 15.9=15.9 Mar=15.9(Same value as May)
aicu ateMa OI:INa € static Ma=K Y Mmax Mymax=15.9
moment Ma (Nm) Work mounting coeficient K: K=1
Allowable moment coeficient Y: Gra h2 Y=1
Calculate load rate Q.. of M I bi ‘M Y. T b:) 7
static moment. ax. allowaple moment Vimax: BEeslls 012=0.39/15.9=0.025 0U'2=0.39/15.9=0.025
=M/ Ma
Load rate of kinetic moment
Examine Mep
. (30+10)
Calculate kinetic moment Me=1/3 We X 9.8 % Mep=1/3 X 16.8 X 9.8 Xi1000 =2.2
Me (Nm).
(Nm) Collision equivalence load We=0-W-V szezl‘gloo X10 X 420=16.8
O: Dumper coeficient =
With urethane bumber (Standard) Me}?fjl_l X0.7X15.9=11.1
Calculate allowable kinetic :4/_100 _ Y=0.7
moment Mea (Nm). With shock sbsorber—l/_l_OO Mpmax=15.9
Corrected value for center position O13=2.2/11.1=0.20
distance of moment An: Table 3 .
Examine Mey
Mea=K Y Mmax (30+31)
Calculate load rate O of Work mounting coeficient K: i
kinetic moment. Allowable moment coeficient Y: [eJEI)|¥A We=168
Max. allowable moment Mma: JELJIEES A4=31
M =11.1 | M
Q3=Me/Mea eay (Same value as Meap)

01'3=3.3/11.1=0.30
Sum of load rate

20N=0L1+0L2+0L 2+ 03 +OU'3
S 0n=0L1+012+013<1 =0.25+0.025+0.025+0.20+0.30=0.80<1
And it is possible to use.

When sum of load rate
does not exceed 1, it is
possible to use.

3.11-10



Allowable load: W (N)

Air Slide Table Series MIXS

Overhang: Ln (mm), Correction value for moment center distance An (mm)

Pitch moment Yaw moment Roll moment
Mr(
» WT J@LE
c
2 | L3, [As
olle ]
.
<
i : o 4—fE |
wi
s e MLGC
197 ‘
0 " W CNA
- Mey I
; ™ CB
5 tH- L
= 3
: . - 9 CVIMVG
Work mounting coefficient: K E 3 T M
c ]
Table mounting 2 i / CXW
Note) Static moment: Moment by gravity CXS
E Kinetic moment: Moment by stopper collision
] o . o |CXT
K=1 IEUEM Max. allowable kinetic energy: Emax (J) SICUIRE Allowable static load coefficient: p =22~
: Model Allowable kinetic energy 1.0 Mx
End plate mounting Rubber bumper Shock absorber N AN e —
MXS 6 0.018 — £ 07 N
MXS 8 0.027 0.045 S MXU
. E MXS12 0.055 0.11 % 05
MXS16 0.11 0.22 = 04 MXS
K=0.6 MXS20 0.16 0.32 3 —
' MXS25 0.24 0.48 £ 03 MXQ
ﬁ I —
Qo
g 02 MXF
LELIRA Max. allowable static load: Wmax (kg) LR Correction value for moment center distance An (mm) S —
Model | Max. allowable static load Correction value for moment center distance (Refer to Fig.2) 50 100 200 300 500 700 MXW
MXS 6 0.6 Model Al A2 A3 A4 A5 | A Average speed Va (mm/s) —
MXS 8 1 MXS 6 | 11 6 13 | 16 | 16 | & MXP
MXS12 2 MXS 8 11 7.5 13 20 20 7.5 . e —
Graph 2 :
ale . e a1 T oot ae o [ os [ ae Allowable moment coefficient: y MG
MXS20 6 MXS16 | 27 | 10 30 | 31 | 31 |10 1.0
MXS25 9 MXS20 34 14.5 36 38 38 14.5 N\ MG P
MXS25 | 42 | 19 | 44 | 46 | 46 |19 07 AN
Z —
g 05 MG
LU Max. allowable moment: Mmax (Nm) 2 o4 7Q
© B
Stroke (mm € MGG
Model
ode 10 20 30 40 50 75 100 125 150 % 0.3 e —
MXS 6 0.7 1.0 1.2 1.2 1.2 — — — — €
MXS 8 2.0 2.0 2.8 3.6 4.2 4.2 — — — (%; 0.2 MGC
MXS12 4.2 4.2 4.2 5.8 7.0 10.0 10.0 — — g
MXS16 11.3 11.3 11.3 11.3 15.9 25.0 34.1 34.1 — z MGF
MXS20 | 194 | 194 | 194 | 194 | 272 | 350 | 505 | 505 | 505 50 100 200 300 500700 | ——=
MXS25 | 30.6 30.6 30.6 306 | 428 551 | 67.3 67.3 67.3 Average speed Va (mm/s)  Colision speed V (mm/s) | |(y'q
Note) Average speed for static moment —
Collision speed for kinetic moment
Symbol MY1
Symbol Definition Unit Symbol Definition Unit
An (n=1to 6) Correction value for moment center distance mm Va Average speed mm/s
E kinetic energy J W Static load kg
Ea Allowable kinetic energy J Wa Allowable static load kg
Emax Max. allowable kinetic energy J We Load equivalent to collision kg
Ln (n=1to 3) Over hung mm Wmax Max. allowable static load kg
M (Mp, My, Mr) Static moment (Pitch, Yaw, Roll) Nm a Load rate —
Ma (Map, May, Mar) Allowable static moment (Pitch, Yaw, Roll) Nm ¢ Allowable static load coeficient —
Me (Mep, Mey) Kinetic moment (Pitch, Yaw) Nm ) Allowable moment coeficient —
Mea (Meap, Meay) Allowable kinetic moment (Pitch, Yaw) Nm [ Damper coeficient —
Mmax (Mpmax, Mymax, Mrmax) | Max. allowable kinetic moment (Pitch, Yaw, Roll) Nm K Work mounting coeficient —
\ Collision speed mm/s




Series MXS

Dimensions MXS 6

||

Basic style

18

(With stroke adjuster at extension end)

2-M2.5 X 0.45 thread 3 deep

Operating port 2-M3 X 0.5

6
2 3 J I 5 Max. 10.5 (With stroke adjuster at retraction end)
o g
© \% £ 10
w| TG F o—&] ki 4
2| THF TSR
0
3 6.5
K 125 2-M2.5 X 0.45 thread 3 deep

Stroke adjuster at extension end

Stroke adjuster at retraction end

N-M3 X 0.5 thread 4 deep

2.5 (With stroke adjuster at retraction end)

55 3

4-M2.5 X 0.45 thread 3.5 deep

5.5

11
|

a7

~
N

oH)

|
1

i 11
k]

=

NN-M4 X 0.7 thread 8 deep

Cross section AA

L]

K TN ] ‘
el 1 e ey N
3 ¥ o
G | & ® ©- Q’
Bl OB S = o
es A N ==
g2 | o @
" o
Lie X
212 = F g
(3]
©
N n
2-M3 X 0.5 thread 5 deep 11 ?‘1 XF N
+0.025 ™ 8
@3H9 )" 2.5 deep e
by
[s2]
0 5 M
o
S &
A,
Y4
7z |
(NN-1) X H G
H
A B
N
©
4 IS
- DB WarY
©O—8& O \v>
o H o)
& ~
4
@3H9 *$9%°2 5 deep A LB g
HA | GA g
T 0
o
wn
S
?O
(o2}
I
™
(mm)
Model F N G H NN GA HA | J K M V4 Y74
MXS6-10 20 4 6 25 2 11 20 10 17 | 225 42 | 41.5 48
MXS6-20 | 30 4 6 | 35 2 21 | 20 10 | 27 |325| 52 |515| 58
MXS6-30 | 20 6 11 | 20 3 31 | 20 7 | 40 | 425 | 62 | 615 | 68
MXS6-40 28 6 13 30 3 43 30 19 50 | 525 84 | 83.5 90
MXS6-50 38 6 17 24 4 41 48 25 60 | 62.5 | 100 | 99.5 | 106

3.11-12

Cross section BB

With auto switch

Basic style

MXS6-10  --eeeee SMXS6N, #1

MXS6-20 oo SMXS6N, #2

MXS6-30  ::eeeeee SMXS6N, #3

MXS6-50 oo SMXS6, #1(#1+#5)
@With stroke adjuster

MXS6-10AS - SMXS6N, #4(#1+#4)
MXS6-20AS .- SMXS6N, #5(#2+#5)
MXS6-30AS - SMXS6N, #6(#3+#6+#7)
MXS6-50AS .- SMXS6, #2(#1+#2+#5)



e

Air Slide Table Series MIXS

With buffer (g6) MXS6-OCF

© © O
17N\ 7Y J7NY
N 4
© © Q
28
2-M3 X 0.5 thread 5 deep
22
w0
o
2

* Dimensions not indicated are -
(LIl MXS6-50F - SMXS6, #3(#3+#5)

the same as the basic style.

Axial piping (26) MXS6-0OP

=N
©
3
=
[
© © i

17 7Y 17N o
w kJ\,\w w o™

© < © ]

©
11.5

* Dimensions not indicated are MXSE-50P - SMXS6, #A(HL+#4+5)

the same as the basic style.

Operating port 2-M3 X 0.5

3.11-13




Series MXS

Dimensions MXS 8

2-M3 X 0.5 thread 4 deep

Operating port 2-M5 X 0.8

2 7
35]], J 6, Max.9.5 (With stroke adjuster at retraction end)
. 1 D L
Basic style R & % SHE
Y | & i}
0 [ S T 1L LT 7 tﬁ::7
© o i O—¢ O = <
3.8 7
NA-M3 X 0.5 thread 4 deep
K 14.6
3.8 7
KA 14.6
22 (With stroke adjuster at extension end) ) ) Stroke adjuster at retraction end
Stroke adjuster at extension end
6.5 .
2-M4 X 0.7 thread 6 deep 4 N-M3XO0.5thread 5 deep 35
- _ (Helisert ool || 4-M3X 05 thread 4 deep
e /i al T 1 —
—_e 1 1
‘k: :Lffj"k 1 l l 7::{‘1,,7'7’
g P/ e = g
e o ¢ | s
f = L
P PO O0HO 0 8 9 ¢
"
SIER £
R & r3 © z
@
F oy %
2 =
—-1)XF ™ ]
23H9 3°°3 deep 12 2 g =
—_—— So 3
n 6‘ M ° | ~
° |
|
~ 3
z
7z
(NN-1) X H G
H
A B 13 6.5 13 6.5
|-+—— |+— ‘
g W e B
8 KDk SN KD s
OB OB 00 === 3
2 DOF S
4 |
| P 1 | — —
4
N B NN-M4 X 0.7 thread 8 deep
23H9 *59%3 deep <
HA N GA . .
t Cross section AA Cross section BB
With auto switch
Basic style
MXS8-10  +ereveee SMXSS8A, #1
(mm) MXS8-20  -eeeee SMXSS8A, #2
MXS8-30  eeeee SMXSB8A, #3(#3+#7)
Model F N G H [ NN | GA | HA | 1 J K |KA[NA| M z | 7z MXS8-40 . SMXS8B. #1
MXS8-10 25 4 9 28 2 17 20 13 19.5]235 — 2 49 48.5 56 MXS8-50  «eveevens SMXS8B, #2(#2+#5)
MXS8-20 | 25 4 12 30 2 12 30 8.5 |29 335| — 2 54 | 535| 61 @With stroke adjuster
MXS8-30| 40 | 4 | 13 | 20 | 3 |33 | 20 | 95|39 |435| — | 2 65 | 645| 72 MXS8-10AS -+ SMXSS8A, #4(#1+#4)
MXS8-40 | 50 | 4 | 15 | 28 | 3 | 43 | 28 [105|56 |535| — | 2 83 | 85| 90 MXS8-20AS -+ SMXSBA, #5(#2+#5)
MXS8-50 | 38 | 6 | 20 | 23 | 4 | 43 | 46 [245]|60 |635| 825| 4 | 101 |[1005| 108 MXS8-30AS - SMXSBA, #6(#3+#6+#7)
MXS8-75| 50 | 6 | 27 | 28 | 5 | 83 | 56 |38.5]96 |88.5[1325] 4 | 151 [1505] 158 MXS8-40AS «ree- SMXS8B, #3(#1+#3)
MXS8-50AS -+ SMXS8B, #4(#2+#4+#5)

3.11-14



=

Air Slide Table Series MIXS

With shock absorber (g6) MXS8-C1CIBS, BT, B

& &
F @or
23.5 22 8 A [ts) 23.5
h o
o T i E— CcL
3 5 « ~H B —
/o & il 3 = MLGC
= I
6@ -—AD—bO——hr g
Y99 g CNA
S & N Shock absorber at retraction end L@l Y L
) om |CB
Stroke 50,70 Stroke adjustable range A dimension
B el Extending [Retracting | (Retracted side mounting) CVINVG
Shock absorber at extension end e M \lL j h 1 MXS8-10 S 22
2 MXS8-20 15 27 CXW
& MXS8-30 15 26 —
Shock absorberat ———————+—1 Max.20
7—@ @ retraction end _ MXS8-40 | 5 18 CXS
- MXS8-50 20 29 —
© MXS8-75 20 29 CXT
* Dimensions not indicated are the same as the basic style. —
MX
With end lock (28) MXS8-00R With buffer (8) MXS8-0LF XU
2-M4 X 0.7 thread 6 deep
. Operating port 2-M5 X 0.8 MXS
J / 10 -
© A i A M XQ
ol o—— &l 8 OO0 ——
Fe] 4l 3 £ g MXF
285 MXW
™ ——
=2 g gl 225 MXP
+O— 0+ —&| 3 MG
N
® ® % : MGP
L] * Dimensions not indicated are the same as the basic style.————
() MXS8-50F - SMXS8, #3 MGQ
4% T MGG
b Axial piping (28) MXS8-OJOP o
_ MGC
15.5 i i ’% @ o . I
(mm) l¢ ¢l l < Operating port MGF
Vodel 3 . ! % 2-M5 X 0.8
< —
MXS8-10R 39 — — —
MXS8-20R | 44 x = Cyl
MXS8-30R | 55 < < A X @K/ MY1
MXS8-40R 73 S PPN P DA
MXS8-50R | o1 HO— O O—©@ ] 5 2
MXS8-75R 141 & 3 & I X 9
Y
6.5
* Dimensions not indicated are the same as the basic style. ] T
i
AL} MXS8-50R -+ SMXSB, #4(#1+#4-+#6) _E + Dimensions not
12 1| indicated are the
] l<Zs] @]  same as the basic style.

MXS8-50P

SMXS8, #5(#1+#5+#6)

3.11-15



Series MXS

Fl‘
Dimensions MXS 12

2-M4 X 0.7 thread 5 beep

B aS | C Styl e 2 95 Operating port 2-M5 X 0.8
4.75 J | 8 Max. 11 (With stroke adjuster at retraction end)

wn
SHEREI Z” o8 \¢ T ¢ﬁ

e - (- >

o L LA Sz

5 LJ 8.5
K 185 8.5 NA-M4 X 0.7 thread 5 deep
KA 18.5

315

Stroke adjuster at extension end

Stroke adjuster at retraction end

(With stroke adjuster at extension end) N-M4 X 0.7 thread 5.5 deep 9 5
777777777 . ~ 5 (Helisert) o
= iy A T I
: N ol ; : Fry P
o 5 Ty ek
& iz | o o % = | 5| A o
Bl i 5 «
3 i 25 1 ed— Sh= —&—+alg I JPled
O 'n put uwrs T A
8 N A A =R :
£ 35 Y =
ee  =r AT i i
1 3
A H
2 2
2-M5 X 0.8 thread 8 deep N g g
+0.030 <* - > XF 10 £ 4-M4 X 0.7 thread 6 deep
@4H9 37" 3.5 deep 16 2 ™ =
8 e
=3 (3N
?O
o 8 M <
P <
b
0
8 | It &
Y
z
i
(NN-1) X H G
H 185 8.5 185 8.5
A B
—— ———
N
] 0
i s IEE :
R e — =
el g
—
| 5
i 5
A NN-M5 X 0.8 thread 10 dee|
24H9 *3%%°3 5 deep J_& P
HA t Cross section AA Cross section BB
l With auto switch
Basic style
MXS12-10 -ovveee SMXS12A, #1
() MXS12-20 -ovvvees SMXS12A, #2
MXS12-30 --oveoe SMXS12A, #3(#3+#7)
Model F|N|[G|HI[NN|GA|HA]| I J | K |KA|[NA| M| Z |2z MXS12-40 --vovees SMXS12B, #1
MXS12-10 | 35 | 4 | 15 | 40 | 2 | 15| 40 | 10 | 40| 265 — | 2 | 71| 70| 80 MXS12-50 --veeoe SMXS12B, #2(#2+#5)
MXS12-20 | 35 | 4 | 15 | 40 | 2 | 15| 40 | 10 | 40| 365 — | 2 | 71| 70| 80O MXS12-75 -wooveees SMXS12B, #3(#3+#7)
MXS12-30 | 35 | 4 | 15 | 40 | 2 | 15| 40 | 10 | 40| 465 — | 2 71| 70| 80 ®With stroke adjuster
MXS12-40 | 50 | 4 |17 [ 25 | 3 | 42| 25 [ 10 | 52 s65] — | 2 | 83| 82| o2 MXS12-10AS - SMXS12A, #4(#1+#4)
MXS1250 | 35 | 6 | 15 | 36 | 3 | 51| 36 | 22 | 60| 665| — | 2 | 103 | 102 | 112 mgg;gﬁg """ SMXS12A, #5(#2:+#5)
MXS12-75 | 55 | 6 | 25 | 36 | 4 | 61| 72 | 43 | 85| 9151255 4 | 149|148 | 158 stuﬁmsfﬁﬁfimgﬁg’ﬁiéﬁfﬁiﬁ;ﬂ)
MXS12-100| 65 | 6 | 35 | 38 | 5 |111| 76 | 52 | 130 [1165 [1795| 4 | 203 | 202 | 212 MXS12-50AS -~ SMXS12B, #5(#2+5)

3.11-16




|

Air Slide Table Series MIXS

With shock absorber(g12) MXS12-0OCBS, BT, B

-ila ¢ ©
@M%
17 8 31.5
H L« V=l 31 CL
. ) e
7N 7N
|" Shock absorber 284 \TJ Y & jm MLGC
at extension end % % N Shock absorber at retraction end @ —
Stroke 75, 100 (mm) 7%
Stroke 10 ' Stroke adjustmentrange| A dimension
\A»‘ _\‘—’ Model Extending|Retracting | (Retracted side mounting) C B
Eﬁ@ [ H—p MXS12-10 2 7 —
S — o MXS12-20 5 17 CVIMVG
& aca MXS12-30 15 27 -
RN A A Shock absorber at retraction end — MxS12-40 | W& 20 15 25 CXW
[ T v H Y v F MXS12-50 5 15 bl
¢ Ad MXS12-75 15 28 CXS
MXS12-100 15 28
+ Other dimensions not indicated are the same as the basic style. —
CXT
With end lock(g12) MXS12-0O0R With buffer(g12) MXS12-0O0OF MX
2-M5 X 0.8 thread 8 deep —
i | ‘ ; MXU
Operating port 2-M5 X 0.8 =
‘ J 10.5 {é @ ¢ ¢ ¢ MXS
A $ 1 5@ , B
—{e] | P [ 3 —Dr ) 4@@7 @ i
o g1 o % % MXQ
o] =H 3 ° @ —
} 3 IR
16 37 MXF
- ™y 0 29
= E MXW
& & & # Other dimensions not 1[ —
IO S st MXP
£ 2 % q H MG
MXS12-50F:---- SMXS12, (#3+#6
o) MGP
B Axial piping(g12) MXS12-00OP MGQ
[ _é_ | —
- e @ MGG
20 0
w% I < Operating port MGC
() 8 2-M5 X 0.8 —
Model J [ a— T = MGF
MXS12-10R 59.5 @ —
MXS12-20R | 59.5 & o - CY1
MXS12-30R | 59.5 A N —
MXS12-40R | 715 & © 4?@7@* 3 @@ = MY1
MXS12-50R 91.5 t © (I
MXS12-75R  |137.5 A A i | ey
MXS12-100R [1915 o5
+ Dimensions not indicated are the same as the basic style. [ * Dimensions not
L = indicated are the
r!‘ L - he basic style.
MXS12-50R - SMXS12, #A(#1+#4+#6) same as e basic siyle
12
l ||

MXS12-50P

SMXS12, #5(#1+#5+#6)

3.11-17



Series MXS

Dimensions MXS 1 6

||

Basic style

2-M5 X 0.8 thread 5.5 deep

3., 11 -
Operating port 2-M5 X 0.8
5.5 J N | _10 _  Max. 13.5 (With stroke adjuster at retraction end)
© ‘r
| \% T+ §¢
B o aa ! 0
i S ol Te el m >
2 Lo [P RIIf |
55| 0] ‘ o]
K 21 .
1 \& NA-M5 X 0.8 thread 5.5 deep
KA 21 N

Stroke adjuster at extension end

37.5 _ (With stroke adjuster at extension end) Stroke adjuster at retractionend 12 6
N-M5 X 0.8 thread 6 deep
i 4 _6 (Helisert) 4-M5 X 0.8 thread 7 deep
=11 7 e N ———
[y = | - '
- L,,: )—--‘j = Y
g © ® \}g g o
Q@ ~ i = 39
Z 2 A A\ | 2
Py an o w— [IToY BN v
[} N |
2 S L4 @%% {% L@ e £
oG =
5 © © é\ S
£ X g
=3 =)
S = F < b
< iy P
® S
2-M6 X 1 thread 10 deep N = 7]
21 2 LXF g £
25H9*0%% 4 deep iy z
I P
0 10 |
o
0
8 g
z
7z
(NN-1) X H G 24 10.5 24 10.5
H ‘ ‘
A B
A kR
n n
2l s g
Bj* % Q S
A A A d Y
A4 P } )
Iai : @&
N
— —
| ; =
f i
A NN-M6 X 1 thread 12 deep
#5H9 0% 4 dee = . .
0 P HA L Cross section AA Cross section BB
I With auto switch
Basic style
MXS16-10 -+ SMXS16A, #1
MXS16-20 «---veeee SMXS16A, #2
MXS16-30 -- SMXS16A, #3
(mm) MXS16-40 ----voeoe SMXS16A, #4(#4+#9)
MXS16-50 «--evevee SMXS16B, #1
Model F N G H NN | GA | HA | J K KA | NA M VA 2z MXS16-75 -- SMXS16B, #2
MXS16-10 35 4 16 | 40 2 16 | 40 | 10 40 | 29 2 76| 75| 87 MXS16-100 - SMXS16B, #3(#3+#7)
MXS16-20 | 35 | 4 | 16 | 40 | 2 16| 40 | 10 | 40| 39| — | 2 76| 75| 87 @With stroke adjuster
MXS16-30 | 35 | 4 | 16 | 40 | 2 16| 40 | 10 | 40| 49| — | 2 76| 75| 87 MXS16-10AS - SMXS16A, #5(#1+#5)
MXS16-40 | 40 | 4 | 16 | 50 | 2 16 | 50 | 10 | 50| 59| — | 2 | 8| 85| 97 MXS16-20AS ------ SMXS16A, #6(#2+#6)
MXS16-50 | 30 | 6 | 21 [ 30| 3 | 51|30 |15 | 60| 69| — | 2 |101] 100|112 MXS16-30AS -+ SMXS16A, #7(#3+#7)
MXS16-75 | 55 | 6 | 26 | 35 | 4 | 61| 70 | 40 | 85| 94| 125| 4 | 151150 | 162 nglg"‘gAg """ SMXSL6A, #8(#4+#8+#9)
MXS16-100| 65 | 6 | 39 | 35 | 5 | 109 | 70 | 55 | 118 | 119 | 173 | 4 | 199 | 108 | 210 MXS16-50AS - SMXS16B, #4(#1+#4)
MXS16-75AS -+« SMXS16B, #5(#2+#5)
MXS16-125| 70 | 8 | 19 | 35 | 7 | 159 | 70 | 68 | 155 | 144 | 223 | 4 | 249 | 248 | 260

3.11-18

MXS16-100AS - SMXS16B, #6(#3+#6+#7)



Air Slide Table Series MIXS
]

CAD

With shock absorber(g16) MXS16-OCBS, BT, B

g % na
T 1 l,@ 5
37.5 19 10. A | 37.5
T il
= =5 PN B
e 8 °
¢ © 2
7 PR 7
T A4 SINA
& r A (mm)
Stroke adjustment range A dimension
Stroke 10 Shock absorber at retraction end Mode! Extending Retracting |(Retracted side mounting)
Shock absorber at Strok 2 _MXS16-10 | 5 11
troke 75to 125 2
extension end A A T 10 zl
[+ A MXS16-30 20 31
[ ] 1 MXS16-40 Max.25 | 20 31
— MXS16-50 15 26
& & MXS16-75 20 32
Shock absorber at retraction end MXS16-100 20 32
Baca +O——©—1+ MXS16-125 20 32
o 4
+ Other dimensions not indicated are the same as the basic style.
With end lock(g16) MXS16-OCR With buffer(g16) MXS16-OCF

2-M6 X 1 thread 10 deep

Operating port 2-M5 X 0.8

3 13 e @
e j )@ et ¢
S SYQ
1o © S 7 ? & Q@
© g ) * & ¢
* IRRAS
™ 20 41
imm]
: g 0.
& © @ @ E, + Dimensions not indicated 1
AR A L oz are the same as the basic
T W@—@ V% sytle. (u';:
5 & 3 1S5 .
MXS16-50F------SMXS#6, (#3+#6)
0 Axial piping(216) MXS16-00P
— ]
| IME &
& — 0 )
25 }—Q$u © Operating port
g 2-M5 X 0.8
(mm)

Model J = = =
MXS16-10R 62 & & & @
MXS16-20R | 62 g
MXS16-30R 62 N7\ SN @& N % ©

P @ !
MXS16-40R | 72 bl A © A
MXS16-50R | 87 ® &  © ] &L Y
MXS16-75R | 137 2l
MXS16-100R | 185 12
MXS16-125R | 235 ' -
+ Dimensions not indicated are the same as the basic style. 0
_[ Q| = Dimensions not indicated
H are the same as the basic sytle
MXS16-50R - SMXS16, #A(#1+#4+#6) 12
I [

(0l MXS16-50P-----SMXS16, #5(#1+#5+#6)

3.11-19




Series MXS

Dimensions MXS 20

3,13 2-M6 X 1 thread 6.5 deep Operating port 2-Rc (PT) 1/8
65 ||, J \ R | 12 Max. 14.5 (With stroke adjuster at retraction end)
w I \
- |
Basic style =i % = e
y 3 Il 03 3 =
(S -1
oy &6 el
SO N
65 | 12
K 25 |65, 2] NA-MS X 1 thread 6.5 deep
KA 25
) ) Stroke adjuster at retraction end
46.5  (With stroke adjuster at extension end) ~Stroke adjuster at extension end 18 6
N-M5 X 0.8 thread 10 deep
R L G A (Heliserty ‘ e F{  6M5 X 0.8 thread 8 deep
- Saaid 6, o o |
@ 5 P b3 =
&) e i i a 5
|l 25 ) V7 i © g
= =1
] &) £ PO—O @Ei @—+¢ ° B
=5 k- | FE | 8
Nl % —
N[E D & & & -
3 = 2
Pide) == 2
Q =
25 F 8 P
» © —‘OC
25H9*3%%° 5 deep N o0 7
_— 27 5 1)XF 8 £
2-M6 X 1 thread 13 deep g° =
(22} [Te}
I
Te)
10 13 M |
e |
wn
! b 3
z
7z
(NN-1) X H G
H
A 5 29 . 115 | 29 11.5
[Te)
o )
e 4 kbl e h ] =
10— Bé—o0O——o— ==z =%
—w A4 ®
) H
-
& ~]
4 ]
_[ 6 A |<§ NN-M6 X 1 thread 12 deep
95H9*9%%05 deep HA | GA | Cross section AA  Cross section BB
I With auto switch
Basic style
MXS20-10 ----eeve SMXS20A, #1
MXS20-20 -+ SMXS20A, #2
(mm)  MXS20-30 -ooe SMXS20A, #3
Model FIFF[ N[ G |[H|N]|GA|[HA] I |3 | K|KA[NA|M | Z |2z mig;g:gg gmgggg‘ zi(#“#g)
MXS20-10 | 50 | 40 | 4 | 15 | 45 | 2 | 25( 35 | 10 | 44| 31| — | 2 | 83| 815| 97 ivcon o SMXS20B, #2
MXS20-20 | 50 | 40 4 15 | 45 2 25| 35 | 10 44 | 41| — 2 83| 815 97  MXS20-100 .- SMXS20B, #3(#3+#7)
MXS20-30 | 50 | 40 | 4 [ 15 | 45 | 2 | 25|35 |10 | 44| 51| — | 2 | 83| 815| 97  @with stroke adjuster
MXS20-40 | 60 | 50 | 4 |15 [ 55 | 2 | 35|35 | 10 | 54| 61| — | 2 | 93| 915|107 MXS20-10AS--SMXS20A, #5(#1+#5)
MXS20-50 | 35 | 35 | 6 | 15 | 35 | 3 | 50 35 | 10 | 69| 71| — | 2 |108[1065| 122  MXS20-20AS---SMXS20A, #6(#2+#6)
MXS20-75 | 60 | 60 | 6 | 19 | 35 | 4 | 54| 70 | 10 |108 | 96 | — | 2 | 147 |1455] 161 MXS20-30AS---SMXS20A, #7(#3+#7)
MXS20-100] 70 | 70 | 6 | 37 | 35 | 5 |107| 70 | 58 | 113|121 | 169 | 4 [200 |1985| 214  MXS20-40AS---SMXS20A, #8(#4+#8+#9)
MXS20-125] 70 | 70 | 8 [ 41 [ 38 | 6 [155]| 76 | 70 [ 155 | 146 [ 223 | 4 | 254 [2525| 268 ~ MXS20-50AS-----SMXS20B, #4(#1+4#4)
MXS20-150| 80 | 80 | 8 | 10 | 44 | 7 |195| 88 | 87 | 190 | 171 | 275 | 4 | 306 |3045| 320  MXS20-75AS - SMXS20B, #5(#2+#5)

3.11-20

MXS20-100AS - SMXS20B, #6(#3+#6+#7)




B

Air Slide Table Series MIXS

With shock absorber(g20) MXS20-0O0OBS, BT, B

| == m—

= oo
[ 1]

— CL
- —
® ® 2R MLGC
74 & “ (mm) —
@ b -
Zad © T Stroke adjustable range A dimention CNA
il il Model Extending [Retracting |(Retracted side mounting) L
) MXS20-10 5 28 C B
Stroke 100 to 150 Shock absorber at retractionend  ——— =~~~
Shock absorber % ;2 i: —
at extension end GV ADLUOU
] _Mxs2040 |, o[ 3 8 CVIMVG
— _MXS20-50 | 30 43 —
— % MXS20-75 15 29 CXW
Shock absorber at retraction end ~ MXS20-100 | 35 49 —
&-—@ TTET MXS20-125 35 49 CXS
e | MXS20-150 35 49 L
* Dimensions not indicated are the same as the basic style. CXT
. . MX
With end lock(220) MXS20-0O0OR With buffer(g20) MXS20-0O0F e
Operating port 2-Rc (PT)1/8 2-M6 X 1 thread 13 deep MXU
15.5 : :
J MXS
& & © I
1 - 0
ﬁ, O o gh—2ig] 3 S —& MX
le}@u—g ® & o MXE
445
MXW
_ o 30.5 i
@ E: * Dimensions not indicated
¢@ ¢@, @ [ | ®—6) are the same as the basic :}r;
I [T @ style. ~ M G
® & o g k@ N i —
MXS20-50F - SMXS20, #3(#3+#6) MGP
‘ o MG
! Axial piping(220) MXS20-OCP :Q
— | —
s . MGG
o ] ' b= Operating port MGC
30 & Qu %
- = 2-Rc(PT)1/8 —
(mm) = == 3 MGF
Model J ® —
MXS20-10R | 68.5 ¢ o @ &l CY1
MXS20-20R 68.5 © ®) —
MXS20-30R_| 68.5 T T 00— ~ m ® MY1
MXS20-40R 78.5 & © & ®
MXS20-50R | 93.5 1]
MXS20-75R  |132.5 15
MXS20-100R |185.5 |
MXS20-125R |239.5
MXS20-150R [291.5 g « Dimensions not indicated
Lt Ny are the same as the basic style.
* Dimensions not indicated are the same as the basic style. 20
l
CAD || MXS20-50P

MXS20-50R

SMXS20, #4(#1+#4+#6)

SMXS20, #5(#1+#5+#6)

3.11-21



Series MXS

Dimensions MXS 2 5

Basic style

2-M8 X 1.25 thread 8.5 deep

4,16 Operating port 2-Rc (PT)1/8
o ] J | 15 Max. 16.5 (With stroke adjuster at retraction end)
- !
— T \‘{ J i
0O oo}
¥y oo ks
Aol ? *
o ] & ‘(}:w
- L. Q% ‘K ] i‘%:; mi
— N —
8 15 p
K 31 NA-M8 X 1.25 thread 8.5 deep
8 15
KA 31

(With stroke adjuster at extension end)

Stroke adjuster at extension end

N-M6 X 1 thread 13 deep(Helisert)

22 7

ke ad ion end
- i 7 o] T } Stroke adjuster at retraction en R 4 6-M6 X 1 thread 10 deep
ST SN S ). ]
- T t g = -‘1': ~ ‘;:} o
g __ L__Lt-d 2 ‘ngf"
S 2 | ‘ g g
<8 A B | S| 8 il
R 0| 52 PO—©- O—@— | 8| °| £ ol
NMER: | FE | = 8
B & & 15 g =
L)
F o kS
e ] +0.030 3 £
@6H9 v 6 deep <ﬂ 1>><F © g
Do P . & £
2-M8 X 1.25 thread 15 deep 30 2 8 =
go @
o <t
&
o 15 M |
S |
B i e
z
zz .
(NN-1) X H G
H 34 16 34 16
A B |
] ©o| -]~ ] ~
{Ej %-@- ¢SS @@ s
O 0O Bo—0 — =E -
i & e
MAr <
o & 1 < — [
7 LA -8
26H9 +g.030 6 deep HA GA NN-M8 X 1.25 thread 16 deep
Cross section AA Cross section BB
l With auto switch
Basic style
MXS25-10 «++veeoe SMXS25A, #1
MXS25-20 -ev-vo- SMXS25A, #2
MXS25-30 ------- SMXS25A, #3
(MM)  MXS25-40 wvvvveee SMXS25A, #4(#4+#9)
Model FIFF|[ N|] G| HI[N[GA[HA] I | J [ K|KA[NA|[ M| Z [ZZ wMxS25.50 ... SMXS25B, #1
MXS25-10 | 50 | 40 | 4 |22 [ 45| 2 | 2245 [ 12 | 47| 35| — | 2 | 92| 905|108 MXS25-75 ---rrrrr SMXS25B, #2
MXS25-20 | 50 | 40 | 4 |22 | 45| 2 | 22|45 [ 12 | 47| 45| — | 2 | 92| 905|108 MXS25-100 ------ SMXS25B, #3(#3+#7)
MXS25-30 | 50 | 40 | 4 | 22 | 45 | 2 | 22| 45 | 12 | 47| 55| — | 2 | 92| 905|108 @With stroke adjuster
MXS25-40 | 60 | 50 | 4 [ 22 [ 55| 2 | 22|55 | 12 | 57| 65| — | 2 | 102 [1005] 118 MXS25-10AS:----SMXS25A, #5(#1+#5)
MXS25-50 | 35 | 35 | 6 | 20 | 35 | 38 | 55|35 | 12 | 70| 75| — | 2 |115|u35]131 m;‘(gggggﬁg """ SMXS25A, #6(#2:+#6)
MXS25-75 | 60 | 60 | 6 | 26 | 35 | 4 | 61| 70 | 33 | 90|100| — | 2 | 156 1545|172 Mx325_40As::::§m§§g//:'ggizg#g)
MXS25-100| 70 | 70 | 6 | 32 | 35 | 5 |102| 70 | 50 | 114125162 | 4 | 107 [1955|213 i dong  Suxconp aiid)
MXS25-125| 75 | 75 | 8 | 40 | 38 | 6 [154| 76 | 67 | 155|150 [218 | 4 |255 2535|271 \1yqp5 75AS....SMIXS25B, #5(42+#5)
MXS25-150] 80 | 80 | 8 | 30 | 40 | 7 [190] 80 | 82 | 180 [ 175|258 | 4 [ 295 |2035| 311  pxS25.100AS - SMXS25B, #6(43+46+47)

3.11-22



Series MXS

Air Slide Table
With shock absorber(g25) MXS25-000CIBS, BT, B
go——o
._.}j L
28 15, A
| _
V% [ 2 i CL
© & w| 8 —
g MLGC
@9 —o-D (mm) ———
Stroke adjustable range A dimension
/é ¢ \ Model Extending|Retracting| (Retracted side mounting) %
Stroke 100 to 150 Stock absorber at retraction end MXS25-10 5 26 CB
Shock absorber A MXS25-20 15 36 =
at extension end — MXS25-30 25 46
_MXS25-40 | 35 46 CVIMVG
e MXS25-50 | Max.35 [ 30 23 —
L @ Shock absorber at retraction end % ;2 i; CXW
- MXS25-125 85 46 CXS
A4 MXS25-150 35 46 Dt
* Dimensions not indicated are the same as the basic style. CXT
With end lock(225) MXS25-00R With buffer(a25) MXS25-00F MX
2-M8 X 1.25 thread 15 deep MXU
J 18  Operating port 2-Rc (PT) 1/8 [ \U/A\/@\ i PO
A
) O e > & @ DS
S ot P—
ﬁ% T B & s ) o o OO0 MXQ
© o @ S & b
H TAPe MXF
31 50 —
— - o MXW
T+ o .0 B .
@ E - + Dimensions not indicated MXP
@@ @@ - | @—6r are the same as the basic ' —
7 i style. MG
T < ue_
@
MXS25-50R-----SMXS25, #3(#1+#6) MGP
- Axial piping(225) MXS25-00P MGQ
— [T - MGG
. [ o . el
-
35 o0 - Operating port MGC
|| < 2-Rc(PT)1/8 —
(mm) . 1 MGF
Model J I ] ] L@% —
MXS25-10R_| 76 - ‘ CYl
MXS25-20R | 76 > © ¢ ® ?
MXS25-30R 76 AN N | o ®
MXS25-40R | 86 *O—0@-—O— & ®@@ =, MY1
MXS25-50R 99 Q] @
MXS25-75R 140 ® A4 ® [j @ ,@
MXS25-100R | 181
MXS25-125R | 239 18
MXS25-150R | 279 |
* Dlimensions not indicated are the same as the basic style. || § : ?;?j;jzn:sqzziggzitz&je
MXS25-50R-----SMXS25, #4(#1+#4+#6) i 120,

MXS25-50P--

- SMXS25, #5(#1+#5+#6)

3.11-23



Series MXS

Option Specifications

Dimensions of Stroke Adjuster at Extension End

Model Adjuster sﬁngéStr:Enge Body mounted Table mounted
Mounted to body Part No. (mm) A|B|C|DJ|E|F M P* H | J Q*
c M A P MXS 6 MXS-AS6 5 6 |17.8 10.5£ 7 |25 [M5X08/M25X10|125| 6| 85|M2.5X 8
e MXS-AS6-X11 15 26.5
= MXS-AS8 5 | 16,5 |
MXS 8 | MXS-AS8-X11 15 7 (21511 |265]| 8 |3 |[M6X1|M3X12 |146| 7 |10 |[M3X 10
= ] | @ MXS-AS8-X12 25 36.5
D) UJI T MXS-AS12 5 20
i b MXS12 | MXS-AS12-X11 15 9.5|31 |16 E 12 | 4 | M8X1|M4X15 (185( 10 (13 |[M4 X 12
MXS-AS12-X12 25 40
MXS-AS16 5 | 245 |
Mounted to table MXS16 | MXS-AS16-X11 15 |11 |37 |19 [345]|14 |5 [MI0OX1| M5X18 |21 |12 |165|M5X 18
MXS-AS16-X12 25 445
9 MXS-AS20 5 1 275 |
@@_ _I 5 MXS20 | MXS-AS20-X11 15 |13 |455[24 |375|17 | 6 |M2K125| M6X20 |25 |13 |21 | M6 X20
MXS-AS20-X12 25 475
H J MXS-AS25 5 325 |
MXS25 | MXS-AS25-X11 15 16 |53.5 26.5£ 19 | 6 |MI4X15| M8 X 25 |31 |17 [255| M8 X 25
MXS-AS25-X12 25 52.5
+ Size of hexagon socket head cap screws
Dimensions of Stroke Adjuster at Retraction End
N Adjuster Adjustable ]
odel strokerangel A | B |C |D |E | F |G | H J% K
Part No. (mm)
— MXS-AT6 5 16.5
« MXS6, MXS8 MXS 6 MXSATOXLL s 21 /19 |105| 8 %65 51| 7 |25 [M25X8|M5X08
E E MXS-AT8 5 | 16,5 |
MXS 8 | MXS-AT8-X11 15 25 |225(125| 9[265| 6 | 8 |3 |M3X10| MEX1
] ] MXS-AT8-X12 25 36.5
MXS-AT12 5 | 20 |
= E = MXS12 | MxS-AT12-X11 15 32|31 |185| 13| 30 | 8 |12 |4 |M4X8|M8X1
= HB MXS-AT12-X12 | 25 40
F F MXS-AT16 5 | 245 |
A 7‘—’ ) MXS16 | MXS-AT16-X11 15 40 [385(23 | 15 |345|10 (14 |5 |M5X10|MI0X1
MXS-AT16-X12 25 445
MXS-AT20 5 1275 |
MXS20 | MXS-AT20-X11 15 50 |48 |29 21 ﬂ 12 |17 | 6 |[M5X12|M2X1%
MXS-AT20-X12 25 475
MXS-AT25 5 32.5
MXS25 | MXS-AT25-X11 15 60 [58 |35 | 23 E 15 |19 | 6 |M6X16|M4X15
MXS-AT25-X12 25 52.5
* Size of hexagon socket head cap screws
How to Order Stroke Adjuster (Options)
MXS—AS| 12 || L X11
l [ ® Adjustable range (Stroke adjuster only)
Stroke adjuster . ® Symmetric style < fsrzan:q Sta“f’afd
AS | Stroke |Extension end T T Standard Option
AT | adjuster |Retraction end Bore L [ symmetric Dl Z.Smm ' '
BS | Shock Extension end 6 26 Bt AL # -X12 (adjustable range: 25_mm) is not available for MXS6.
o1 | absotve jrernes 8| o
12 o12 # -X11 and -X12 adjusters cannot be ordered assembled with MXS.
16 216 + Refer to the above figures for the dimensions.
20 220
25 925

3.11-24




Option Specifications

Air Slide Table Series MIXS

Dimensions of Adjuster Option/With Shock Absorber (BS, BT)
Extension End

Mounted to body

Mounted to table

Va B - b o
—& CL
H K —
?/\j - - o MLGC
D D H = 7
N O CNA
G | 1 R
G —_—
= E E1l uJ w CB
MXS-BS20 c “b
MXS-BS25 L —
MXS-BS 8 CVIMVG
MXS-BS12 I
MXS-BS16
CXW
Model Adjuster Mounted to body Mounted to table —
ode PatNo. | A | B | c | b | E |EL] F | o M p* H | J | kK | L Q* CXS
MXS 8 |[MXS-BS 8 | 7 |23 |14 |155|408| 5 | 12 | 14| M8X1 M3X16 |16.6| 7 |155 |146 | M3X16 -
MXS12 | MXS-BS12 | 95 |31 |145|16 |408| 6 | 12 | 1.4 | M8x1 M4X15 |[205| 10 |15 |185| M4 X 15 CXT
MXS16 | MXS-BS16 |11 |37 |175|19 |[467 14 | 14| MI0X1 | M5X18 |23 | 12 [185 |21 M5X18  ———
MXS20 | MXS-BS20 |13 |47 |235|26 |67.3| 11 | 19 |12 | M14X15 | M6X25 |27 | 13 |255 |25 M6 X 25 MX
MXS25 | MXS-BS25 |16 |53.5| 235|265 |67.3 | 12 | 19 |12 | M14X15 | M8X25 |33 | 17 |255 |31 M8X25 ~ ———
« Size of hexagon socket head cap screw  |MXU
MXS
Retraction End MXQ
MXF
Mounted to body D E1l Mounted to tab|e L
- - . i 2 MXW
& Dy o Hi [ Pl | B IR P IMxP
. J T2 s | o —
| & & i = | MG
> © s | —
J \ | MGP
/ A MXS-BT8 ! L=
MXS-BT20 P E \ \ L A
MXS-BT25 MXS-BT 8 | | L MGQ
MXS-BT12 _—— N —
MXS-BT16 MGG
Model Adjuster Mounted to body i Mounted to table MGC
PatNo. | A | B | c | D | E |EL|] F | G| H J PY | K | L | M]|[N Q" —
MXS 8 |[MXS-BT 8 | 38 | 23 |125| 14 |408| 5 | 8 | 12 | 14| M8X1 M3X12 |16.6| 7 |155[146 | M3X 16 MGF
MXS12 |MXS-BT12 | 45 | 31 |18 | 14 |408| 6 | 8 | 12 | 14| M8X1 M4X8 [205| 10 |15 [185 | M4 X 15 L
MXS16 | MXS-BT16 | 55 | 37 |235| 16 |467| 7 | 10 | 14 | 14| Miox1 | Ms5x10 |23 | 12 |185|21 M5 X 18 CY1
MXS20 | MXS-BT20 | 70 | 47 |29 | 23 |673| 11 | 12 | 19 |12 | M14ax15 | Msx12 |27 | 13 |255 |25 M6 X 25 -
MXS25 | MXS-BT25 | 80 | 54 |35 | 23 |67.3| 12 | 15 | 19 |12 | M14X15 | M6X16 |33 | 17 [255]31 M8 X 25 MY1

* Size of hexagon socket head cap screw

3.11-25



Series MXS

Shock Absorber Specifications

Shock absorber part No. RB0805 | RB0806 | RB1007 |RB1411 | RB1412
Applicable slide table MXS8 | MXS12 | MXS16 | MXS20 | MXS25
Max. absorbing energy (J) 0.98 2.94 5.88 14.7 19.6
Absorbing stroke (mm) 5 6 7 11 12
Max. collision speed (mm/s) 50 to 500
Max. operating frequency (cycle/min) 80 80 70 45 45
Max. allowable thrust (N) 245 245 422 814 814
Ambient and fluid temperature (°C) —-10 to 60
Spring force Extended 1.96 1.96 4.22 6.86 6.86
(N) Retracted 3.83 422 6.86 15.30 15.98
Weight (g) 15 15 25 65 65

End Lock Specifications

Model MXS8 | MXS12 | MXS16 | MXS20 | MXS25
Bore size (mm) 8 12 16 20 25
Operating speed range 50 to 500mm/s
Holding force (N) 25 ‘ 60 ‘ 110 ‘ 160 ‘ 250

Note) Refer to p.3.11-5 for cautions on end lock.

Buffer Specifications

Model MXS6 | MXS8 [MXS12|MXS16|MXS20|MXS25
Bore size (mm) 6 8 12 16 20 25
Piston speed 50 to 500mm/s (Horizontal mounting 50 to 300mm/s)
Buffer stroke (mm) 5 10
Buffer stroke | 4 9mm 3 5 10 13 17 21
load (N) | AL max. 6 8 13 17 25 29

Note) If stroke is adjusted with the stroke adjuster at extension end, the buffer

Q Note) Refer to p.3.11-5 for cautions on buffer.
stroke is shortened by the adjusted length.

Applicable Auto Switches to Buffer

Style Part No. Specifications Electrical entry
D-F9BV | With light, 2 wire
D-FONV | With light, 3 wire, Output: NPN Perpendicular
D-F9OPV | With light, 3 wire, Output: PNP
* The auto switch for buffer must be ordered separately.

Solid state
switch

With buffer With end lock

3.11-26



Construction

Air Slide Table Series MIXS

CL
MLGC
CNA
CB
CVIMVG
’ i CXW
v
- CXS
*ﬁ EB} ——
= CXT
MX
. . : MXU
With buffer With end lock Axial piping
Component Parts Component Parts/With end lock MXS
No. Description Material Note No. Description Material Note —
[©) Body Aluminum alloy Hard anodized 25 Body for lock Aluminum alloy Hard anodized MXQ
@) Table Aluminum alloy Hard anodized 20 Table support Carbon steel Anticorrosive treatment ————
3 End plate Aluminum alloy Hard anodized 27 Rod cover Aluminum alloy MXF
@ Rail Carbon tool steel Heat treatment 29 Piston rod Stainless steel R
®) Guide Carbon tool steel Heat treatment 29 Bushing Aluminum alloy Chromated
® Rod Stainless steel 30 Blanking plug Brass Electroless nickel plated MXW
@ Piston assembly With one side magnet 3) Return spring Stainless steel [
® Rod cover Aluminum alloy Anodized 3 Piston seal NBR MXP
[©) Seal support Brass Electroless nickel plated 33 Rod seal NBR e
@ | Head cap Resin 3 | O ring NBR MG
) Floating bushing Stainless steel 3 O ring NBR e —
(@) Roller stopper Stainless steel MG P
@ | Cylindrical roller High carbon chromium bearing steel Component Parts/Axial piping
(@) Roller spacer Resin No. Description Material Note
(B} Rod bumper Polyurethane 30 Axial side piping plate Aluminum alloy Hard anodized MGQ
(5] End bumper Polyurethane 37 Pipe Aluminum alloy Hard anodized  _
() Piston seal NBR 39 Bushing Aluminum alloy Chromated MGG
(B} Rod seal NBR 3 | Stud Brass Electrolrss nickel plated ————
@ | O ring NBR @ | Steelball Stainless steel MGC
@ | Oring NBR =
Component Parts/With buffer @ | Oring NBR MGE
No. Description Material Note @3 Gasket
@ End plate Aluminum alloy Hard anodized » The parts indicated with the numbers in the list below are included in aseal kit. | ~y/q
@) Spring collar Stainless steel Q Specify the order numbers in compliance with respective cylinder bore size. CY]—
) Head cap Stainless steel —
23 Spring Stainless steel MY1
[2Z) Magnet Rare earth —

Replacement Parts: Seal Kits

Replacement Parts: Seal Kits for End Lock Model

Replacement Parts: Seal kits for Axial Piping Model

I(Brgrrs) Kit No. Contents (Brgrrﬁ) Kit No. Contents (Bn?rrne) Kit No. Contents
6 MXS6-PS 8 MXS8R-PS 1 set includi 6 MXS6P-PS
8 MXS8-PS 12 MXS12R-PS Seqtj'”c ‘,1‘@'”9 8 MXS8P-PS 1 set including
12 MXS12-PS 1 set including 16 MXS16R-PS (tg? =4 12 MXS12P-PS @t ®
16 MXS16-PS @to® 20 MXS20R-PS @10 ® 16 MXS16P-PS &
20 MXS20-PS 25 MXS25R-PS 20 MXS20P-PS @to @
25 MXS25-PS 25 MXS25P-PS

3.11-27



Air Slide Table (Symmetric Style)

series MIXS

How to Order

w

Mxs[12]L—50l[AS HEON

Symmetric

style Number of auto switches
- | 2
S 1
n n

Bore size (Stroke: mm)
6 | 10, 20, 30, 40, 50
8 | 10, 20, 30, 40, 50, 75
12 | 10, 20, 30, 40, 50, 75, 100
16 | 10, 20, 30, 40, 50, 75, 100, 125
20 | 10, 20, 30, 40, 50, 75, 100, 125, 150
25 | 10, 20, 30, 40, 50, 75, 100, 125, 150

® Auto switch
Without auto switch
«Refer to below table for parts No. of auto switch.

Stroke adjuster option e
— | Without adjuster
AS | Adjuster at extension end
AT | Adjuster at retraction end
A Adjuster at both ends
BS™ | Absorber at extension end
BT | Absorber at retraction end
B" | Absorber at both ends
Q Note 1) Shock absorber is not available for MXS6L.

Note 2) Functional option is not available for MXSOOL.

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

5 Load voltage Auto switch model Lea(d ‘;Vife
’ n Electrical | § Wiring f m Specification
Style| Special function entry <_§ (Output) Do AC Ele(‘:trlcal entry 05 3 Load details
= Perpendicular| In-line | (—) | (L)
No 5V, 12V | 100V orless | A9OV A90 [ J @ |[IC circuit
3 § 7 2 wire 24V R:II_ay,
3= —_ Grommet |, 12V 100V | A93V | A93 o | o | — C | P5.319
@ 3wire(Equiv. NPN) | —— 5V — | A9V | A96 ) @ |[ICcircuit| —
3 wire(NPN) FONV FON [ J [ J
® Diagnfz;tic ilnd)ication 3 wire(PNP) FOPV | FOP o | @ P.5.3-39
T color -
75 2 wire FO9BV | F9B [ J o Relay
= Grommet | Yes 24V | 12v — — J
% 2 3 wire(NPN) FONWV | FONW | @ [ PLC
n — 3 wire(PNP) FOPWV | FOPW | @ [ P.5.3-66
2 wire FOBWV | FOBW | @ [ J
+Lead wire length 0.5m--- — (Ex.) A93 PLC: Programmable Logic Controller
T3 L A93L

Specifications

Specifications are same as the standard style. Refer to p.3.11-7

3.11-28



Dimensions MXS 6 L/Symmetric style

Air Slide Table Series MIXS

Y4
Y4
i 3 8
Basic style
3 5 M = C L
T
5 MLGC
#3H9 *3°%°2.5 deep o 8 —
: 11 <g '1> *F g 2 CNA
2-M3 X 0.5 thread 5 deep 3z kS —
g CB
_ F ‘> =) —
2 I I
25 o g CVIMVG
5 ] 5
o< © © © 2 [ on,
28 | Na Iatm In o of 5 CXW
2 N\ R N\ 2 = ™ = —
£3 T : i
A5 S @ o | Sz, o CXS
T = : FE T d g —
R S Aol CXT
55 3 e —
18 |(With stroke adjuster at extension end) MX
Stroke adjuster at extension end Stroke adjuster at retraction end
N-M3 X 0.5 thread 4 deep
(Helisert) MXU
MXS
K 12.5
2-M2.5 X 0.45 thread 3 deep e
3 6.5 MXQ
| - ¥ 10 —
] === I}
v Pz SIS o T MXF
o Y —
o= ¢ A MXW
2 |3 J 115 Max. 10.5 (With stroke adjuster at retraction end) —
2-M2.5 X 0.45 thread 3 deep ) MXP
6 Operating port 2-M3 X 0.5
. MG
§ L
S
o
23H9 "39%52 5 deep HA T GA %o MGQ
ri rﬁ @ NN-M4 X 0.7 thread 8 deep .
| 4 MGG
X T » B
T j ol Her
1 N
et ® 6o o ==
; S Bl
N S| ® =
3 el ¢ J ~
A B
e 11| |55 55 —
H | MY1
(NN-1) XH G Cross section AA Cross section BB
(mm)
Model F N G H NN GA HA | J K M Y4 Y74
MXS6L-10 20 4 6 25 2 11 20 10 17 22.5 42 | 415 48
MXS6L-20 30 4 6 35 2 21 20 10 27 32.5 52 | 51.5 58
MXS6L-30 20 6 11 20 3 31 20 7 40 42.5 62 | 61.5 68
MXS6L-40 28 6 13 30 3 43 30 19 50 52.5 84 | 83.5 90
MXS6L-50 38 6 17 24 4 41 48 25 60 62.5 | 100 | 99.5 | 106

3.11-29



Series MXS

Dimensions MXS 8 L/Symmetric style

zZ
z
& N
w© 6 M
o
&
#3H9 *3%%°3 deep <ﬂ >x . g i
12 2 i c
2-M4 X 0.7 thread 6 deep g 2
g° 3
E 2 | 4-M3 X 0.5 thread 4 deep
z %
& g
m %)
29 2
g5 g
L < (9]
8 3 IS
75 3
Sls X n
g8 N‘
< ®© /
N-M3 X 0.5 thread 5 deep 6.5 35
22 (Stroke adjuster at extension end) (Helisert)
T
Stroke adjuster at extension end Stroke adjuster at retraction end
KA 14.6
3.8 7
NA-M3 X 0.5 thread 4 deep
K 14.6
3.8 7
EIa T
o TEET M = 10
© 3 ©
bl O a3
S / =
35 J | 6 Max. 9.5 (With stroke adjuster at retraction end)
2 |7 Operating port 2-M5 X 0.8
2-M3 X 0.5 thread 4 deep
HA GA
+0.025
23H9 o = 3 deep A B NN-M4 X 0.7 thread 8 deep
-— -—
4
- p- Dr -
o WDk D
@O0 @O0 e=SEo :
of D IE N KD ) 5
N |- ) |-
}_A }_ﬁ
H 13 6.5 13 6.5
(NN-1) X H G i i
Cross section AA Cross section BB
(mm)

Model F N G H NN | GA | HA | J K KA | NA M z Y74 Refer to "Dimensions" of MXS8 on
MXS8L-10 25 4 9 28 2 17 20 | 13 [195 |235 | — 2 49 | 485| 56 p.3.11-15 for one with shock
MXS8L-20 25 4 12 30 2 12 30 85|29 [335| — 2 54 | 535 | 61 absorber as symmetric.
MXS8L-30 40 4 13 20 3 33 20 9.5 | 39 435 | — 2 65 64.5 72
MXS8L-40 50 4 15 28 3 43 28 10.5 | 56 535 | — 2 83 82.5 90
MXS8L-50 38 6 20 23 4 43 46 24.5 | 60 63.5 | 825 4 101 |100.5 | 108
MXS8L-75 50 6 27 28 5 83 56 38.5 | 96 88.5 | 132.5 4 151 |150.5 | 158

3.11-30




MXS 12 L/Symmetric style

Air Slide Table Series MIXS

y/4
z
Basic style o S
N
| ' CcL
0 8 M L
IS} = ——
5 5 MLGC
24H9 *3%%°3 5 deep ( N > 3 = "
—-1)XF 2
16 2 0 3]
2-M5 X 0.8 thread 8 deep 8‘*’ % 4-M4 X 0.7 thread 6 deep CNA
: P
16 E o 5 C B
N 3 3 T
5 =
g E CVIMVG
5 |\ @ & g |E —
£ 1o 060" &1 q g £ 1oE— CXW
= E WW W [ | | ® S SIS - L
£ X i y n «
LI A il X 3 A et CXS
=~ T A DA —
T : : e R
S sl L ] CXT
N-M4 X 0.7 thread 5.5 deep
315 (With stroke adjuster at extension end) (Helisert) 9 5 MX
Stroke adjuster at extension end Stroke adjuster at retraction end MXU
KA 18.5 I
K 185 5 | 85 MXS
5 8.5
NA-M4 X 0.7 thread 5 deep MXQ
s B - T T of
i ol Hoofi—+13 MXF
oy 1.l ¢ bid % 0
— d
o, - ho MXW
[Te)
4.75 J | 8 Max. 11 (With stroke adjuster at retraction end) MXP
2,193 Operating port 2-M5 X 0.8 MG
& [
2-M4 X 0.7 thread 5 deep g
0 MGP
800 —_—
84H9 $°°3.5 deep HA GA go MGQ
A B [} NN-M5 X 0.8 thread 10 deep
- l— 5 ——
é L —
- gl S MGC
60+ 050 =
BEE 5 >F IMGF
N ol ® [ R —
3 < 1
A B [
“— Ny [~— 18.5 8.5 18.5 8.5 —
Cross section AA Cross section BB
(mm)

Model F N G H NN GA HA | J K KA NA M Z zZ Refer to "Dimensions” of MXS
MXS12L-10 35 4 15 40 2 15 40 | 10 40 | 265| — 2 71 70 80 12 on p.3.11-17 for one with shock
MXS12L-20 35 4 5 40 2 15 40 | 10 40 | 365 — 2 71 70 80 absorber as symmetric.

MXS12L-30 35 4 15 40 2 15 40 10 40 465 — 2 71 70 80
MXS12L-40 50 4 17 25 3 42 25 10 52 56.5| — 2 83 82 92
MXS12L-50 35 6 15 36 3 51 36 | 22 60 | 66.5| — 2 103 | 102 | 112
MXS12L-75 55 6 25 36 4 61 72 43 85 91.5[125.5 4 149 | 148 158
MXS12L-100 65 6 35 38 5 111 76 52 130 |116.5[179.5 4 203 | 202 212

3.11-31



Series MXS

Dimensions MXS 16 L/Symmetric style

Y4
Z
0 [ o
. © <
Basic style &
Y
n
S 10 M 5
c
[}
c
25H9 *3%%°4 deep N § &
<7 —1> XF ° c
21 2 < 2
2-M6 X 1 thread 10 deep __ 3 =
2 S t
20 = i s
2 F I 2
2 I} @
] = 4-M5 X 0.8 thread 7 deep
: 3
w o
3 & @ © 3
5 D - 7
® r [~ <
® g YO—QI=8="@— |82 &
= ' Y 5
L [ee] g @ ‘$ f Fo- Fomn ™
= i Y
g 41/ = '
3 [N 6 LA
N-M5 X 0.8 thread 6 deep 12 6
375 | (With stroke adjuster at extension end) (Helisert) Stroke adjuster at retraction end
Stroke adjuster at extension end
KA 21
5.5 | 110 NA-M5 X 0.8 thread 5.5 deep
K 21
55 ] 10 |
N v T
i er <;! o-¢ { pas
o~ & S
—y - 54}‘ /ﬁ - Q. ¢
©| 55 J | 1o Max. 13.5 (With stroke adjuster at retraction end)
3 |11 Operating port 2-M5 X 0.8
2-M5 X 0.8 thread 5.5 deep
HA . GA
. il
@5H9 "9 4 deep LA I‘E NN-M6 X 1 thread 12 deep
e
y l L
f % s=
—
iz | @ ©
N
e e —— |
[ ~ 0 o
] =] =}
Q| —
) S
LA R \ \
H ‘ 24 10.5 ‘ 24 10.5
(NN-1) XH G Cross section AA Cross section BB
(mm)

Model F N G H NN | GA | HA | J K KA NA M Z 7z Refer to "Dimensions” of MXS 16 on
MXS16L-10 35 4 16 40 2 16 | 40 10 40 29 | — 2 76 75 87 p.3.11-19 for one with shock absorber
MXS16L-20 35 4 16 40 2 16 40 10 40 39 — 2 76 75 87 as symmetric.
MXS16L-30 35 4 16 40 2 16 40 10 40 49 — 2 76 75 87
MXS16L-40 40 4 16 50 2 16 50 10 50 59 = 2 86 85 97
MXS16L-50 30 6 21 30 3 51 30 15 60 69 — 2 101 | 100 112
MXS16L-75 55 6 26 35 4 61 70 40 85 94 125 4 151 | 150 162
MXS16L-100 65 6 39 35 5 109 70 55 118 119 173 4 199 | 198 210
MXS16L-125 | 70 8 19 35 7 159 70 68 155 | 144 | 223 4 249 | 248 | 260

3.11-32



MXS 20 L/Symmetric style

Air Slide Table Series MIXS

1\ 6-M5 X 0.8 thread 8 deep

(D
}

29

211

11.5

|

Cross section AA  Cross section BB

Refer to "Dimensions" of

o
Wse
o
B
o
oXwW-
o
T
WX
XU
MXS
WxQ.
WXF
o
WP
VG |
=3
6Q
MGG
woe
WoF
o
Wi

MXS20 on p.3.11-21 for one

with shock absorber as
symmetric.

Y74
| z
. 0 i 3
Basic style ¢
[Te}
S 13 M =
c
a ()
) ]
Q =
2-M6 X 1 thread 13 deep 5H9 *3%%°5 deep 3 2
NERCO S E
- @
25 2 2 2o %
- o 2
3 ‘@@ g = E
T c & © @
_® 35 s
c e FE . S
3 ] | 25 R Sw—e ! o— gl o B
le) 58 VYW TSR 2
e [} 1 =
® R i 2
e} N § % Q $ < T n
| S ! 1 1 1 )E”L} - ‘/
: AN fin : : Hi
; e *qjj‘ 6 I ‘ o
IS 3 L X bommms - [ eiiaiulll N L
) i ] N-M5 X 0.8 thread 10 deep Stroke adjuster at retraction end 18 6
46.5 (With stroke adjuster at extension end) (Helisert)
T
Stroke adjuster at extension end
KA 25
K 25 65| 12 NM-M6 X 1 thread 6.5 deep
65 | 12
J‘*"‘ o
[ b .
e -1 ©-9 - -
- i
Sy o & ;Q o}
7\
@l 65 L J | 12 Max. 14.5 (With stroke adjuster at retraction end)
3 113 Operating port 2-Rc (PT) 1/8
2-M6 X 1 thread 6.5 deep
5H9 *0%%%5 deep
g HA GA NN-M6 X 1 thread 12 deep
6 A B
Tinm au
: : ]
T s ]
L
| 1 O\
—& o
O - P b —
IS4 _ 5
E :
8 B
DS <2 ‘ 29 115
H I
(NN-1) X H G
(mm)
Model F FE N G H NN GA HA | J K KA NA M z y¥4
MXS20L-10 50 40 4 15 45 2 25 35 10 44 31 | — 2 83 | 815 97
MXS20L-20 50 40 4 15 45 2 25 35 10 44 41 | — 2 83 | 815 97
MXS20L-30 50 40 4 15 45 2 25 35 10 44 51 | — 2 83 | 815 97
MXS20L-40 60 50 4 15 55 2 35 35 10 54 61 | — 2 93 | 915 | 107
MXS20L-50 35 35 6 15 35 3 50 35 10 69 71| — 2 108 |106.5 | 122
MXS20L-75 60 60 6 19 35 4 54 70 10 108 9% | — 2 147 |1455 | 161
MXS20L-100 70 70 6 37 35 5 107 70 58 113 | 121 | 169 4 200 [198.5| 214
MXS20L-125 70 70 8 41 38 6 155 76 70 155 | 146 | 223 4 254 [252.5 | 268
MXS20L-150 80 80 8 19 44 7 195 88 87 190 171 | 275 4 306 |304.5| 320

3.11-33



Series MXS

Dimensions MXS 25 L/Symmetric style

Y4
z
] @
10 15 M =)
5 c
© 5]
2-M8 X 1.25 thread 15 deep g s
g E=
30 (% ) > xF o g
+0.030 o &
26H9 o~ Gdeep So 2| 6-M6 X 1 thread 10 deep
31 F * ©
2 g
© 3
g K
23 g @ b 2 @
g8 | [\ g ®
MR ‘ | z "
Py § § 4 @ ¢§ T i
S ® — : n raa,
s, ! ! =X -
- — v w| | |
A & N ] [ — !
54.5 (With stroke adjuster at extension enc:k Stroke adjuster at extension end Stroke adjuster at retractionend | 22 | | 7

N-M6 X 1 thread 13 deep

(Helisert)
KA 31
15
K 31 8 NA-M8 X 1.25 thread 8.5 deep
8| 15
,,,,, H (.
£ A1 3
ot © OO !
) A *
o | |[oro— o e
=1 ==
= SL J | 15J_ Max. 16.5 (With stroke adjuster at retraction end)
T T +
4 ||16 Operating port 2-Rc (PT) 1/8
2-M8 X 1.25 thread 8.5 deep o
3
©
[}
8
+0.030 =}
26H9 "o 6 deep HA GA 22| NN-M8 X 125 thread 16 deep
7 RA B &
| BN R —
NT & B B
4 T 2 N @
B-O—B) -0 -B-O—B)D oo R i —
VY YVY WYY WYY Y @
[ EIEECIER IR
T T O|d| - [N
- SIRSIRS -
N
A B ‘ 34 16 34 J16
o \
(NN-1) X H G Cross section AA Cross section BB
(mm)

Model F FF N G H NN GA HA | J K KA NA M Zz Y74 Refer to "Dimensions" of
MXS25L-10 50 40 4 22 45 2 22 45 12 47 35 | — 2 92 90.5| 108 MXS25 on p.3.11-23 for
MXS25L-20 50 40 4 22 45 2 22 | 45 12 47 Ay || — 2 92 | 90.5| 108 one with shock absorber
MXS25L-30 50 40 4 22 45 2 22 | 45 12 47 55 | — 2 92 | 90.5| 108 as symmetric.
MXS25L-40 60 50 4 22 55 2 22 55, 12 57 65 | — 2 102 |100.5| 118
MXS25L-50 35 35 6 20 35 3 55 35 12 70 75 — 2 115 | 1135 131
MXS25L-75 60 60 6 26 35 4 61 70 33 90 100 — 2 156 |154.5| 172
MXS25L-100 70 70 6 32 35 5 102 70 50 114 | 125 | 162 4 197 | 1955 213
MXS25L-125 75 75 8 40 38 6 154 76 67 155 | 150 | 218 4 255 |2535| 271
MXS25L-150 80 80 8 30 40 7 190 80 82 180 175 | 258 4 295 |293.5| 311

3.11-34



Auto Switch Mounting Position for Stroke End Detection

Air Slide Table Series MIXS

Reed switch: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V

B E )
' Model A Stroke Stroke Or;srr]e;téng
10 |20 [ 30 | 40 | 50 | 75 |100|125|150| 10 | 20 | 30 | 40 | 50 | 75 |100 125|150
-t 36 |36 | 36 156216
L | Br == cae——— MXS6 59 |56 (56(56(17.6(236| — | — | — | — |an|ay|@y|@syjaey — | — |~ | ~ 4.5
89 |39 | 49 [129209(459
‘A‘ B E | MXSS 7.6 109|159 (6.9 |14.9(22.9(479| — - - (5.4) (1.4) (2.4) (10.4) (18.4) (43.4) - - - 5 CL
264164 | 6.4 | 8.4 |18.439.4 | 684
MXSlZ 11.6 28.4(18.4( 8.4 |10.4 20.4 41.41704| — - (23.9) (13.9) (3.9) (5.9) (15.9) (3(5'9) (55.9) - - 6
267|167 6.7 | 6.7 [11.7(36.7 [59.7 | 84.7
MXS16 |16.3|28.7|18.7| 87 | 8.7 |13.7|38.7|61.7|86.7| — |242)|(142)| 42) | 42) | 9.2) |34.2)|572)|(322)] — 7 MLGC
30.6 (206 | 10.6 [ 10.6 | 15.6 | 29.6 | 57.6 | 86.6 [113.6 L
MXS20 |(18.9(32.6(22.6|12.6(12.6|17.6|31.6|59.6|88.6 115.6)26.1)|(18.1)| (8.1) | 8.1) |(23.1)|(27.1)|(55.1)|(84.1)|(11L.1) 8 ——
I ] 355255155 (155|185 | 245 (505 | 835 | 98.5
MXS25 | 23 [37.5(275[17.5(17.5|205 (365|525 |85.5[1005( 55 25 | 155 165 18245505 | 835 65| g CNA
( ):D-FON
I === . N CB
Solid state switch: D-F9B, D-F9N, D-F9P, D-FOBW, D-FONW, D-FOPW —
s B E Operatin CVIMVG
Model A Stroke Stroke Fr)ange 9 —
10|20 |30 | 40 | 50 | 75 {100(125(150| 10 | 20 | 30 | 40 | 50 | 75 |100|125|150 CXW
MXS6 10 [9.6]9.6|9.6 |21.6(276| — | — | — | — |-04|-04|-04|116|175| — | — | — | — 2 —
MXS8  |11.6{14.9] 9.9 [10.9/18.9|26.9(51.9| — | — | — | 49]-0.1|09 |89(16.9(41.9| — | — | — 2.5 CXS
MXS12 |156(32.4(22.4(12.414.4|244|454|744| — | — |22.4|124| 2.4 | 44 |14.4(354|64.4| — | — 3 ——
MXS16 |20.3(32.7]22.7]12.7|12.7|17.7|42.7(65.7|90.7| — |22.7]12.7| 2.7 | 2.7 | 7.7 |32.7|55.7(80.7| — 4 CXT
MXS20 |22.936.6(26.6|16.6|16.6]|21.6|35.663.692.6[119.6/26.6/16.6| 6.6 | 6.6 | 11.6|25.6/53.6 82.6{109.6 6 —
MXS25 | 27 |41.5]31.5|21.5/21.5|24.5|40.5|56.5|89.5[104.5/31.5|21.5|11.5|11.5|14.5|30.5|46.5 | 79.594.5 6 MX
Solid state switch: D-FOBV, D-FONV, D-FOPV, D-FOBWV, D-FONWV, D-FOPWV MXU
B E )
Model A Stroke Stroke O?:;Zténg MXS
10 | 20 [ 30 | 40 | 50 | 75 |100{125|150| 10 | 20 | 30 | 40 | 50 | 75 |100 (125|150 MXQ
MXS6 10 [ 9.6 | 9.6 9.6 |216(276] — | — | — | — | 16| 16|16 (136|196 — | — | — | — 2 L *
MXS8  [11.6]14.9] 9.9 |10.9/18.9(26.951.9| — | — | — [6.9 [ 1.9]2.9(10.9{189(439| — | — | — 2.5 MXF
MXS12 [156(32.4(|22.4(12.4|14.4{24.4(45.4|74.4| — | — |24.4|14.4]| 4.4 | 6.4 |16.4|37.4(66.4| — | — 3 L
MXS16 [20.332.7|22.7]12.7|12.7|17.7(42.7|65.7(90.7| — |24.7(14.7| 47 | 47| 9.7 |34.7|57.7|82.7| — 4 MXW
MXS20 [22.936.6(26.6]16.6/16.6|21.6|35.6|63.692.6 119.6/28.6|18.6| 8.6 | 8.6 |13.6|27.6|55.6 |84.6 [111.6 6 L
MXS25 | 27 |41.5|31.5|21.5/21.5/24.5|40.5|56.5(89.5 [104.5[33.5|23.5|13.5|13.5|16.5|32.5|48.5|81.5|96.5 6 MXP
_ MG
How to Install an Auto Switch —
MGP
A Cautl on Auto switch mounting tool —
- To tighten the set screw (attached to the auto MGQ
switch), use a watch maker's screwdriver with e ——
a grip diameter of 5 to 6mm. MGG
Clamping torque L
- Clamping torque is approx. 0.05 to 01Nm. MGC
Rotate about 90° from when you feel the
fitting tightness. MGF
CYl
MY1

3.11-35




World Wide & SMC Support...

North American Branch Offices For a branch office near you call: 1-800-SMC-SMC1 (762-7621)

SMC Pneumatics Inc. (Atlanta)
1440 Lakes Parkway, Suite 600
Lawrenceville, GA 30043

Tel: (770) 624-1940

FAX: (770) 624-1943

SMC Pneumatics Inc. (Austin)
2324-D Ridgepoint Drive
Austin, TX 78754

Tel: (512) 926-2646

FAX: (512) 926-7055

SMC Pneumatics Inc. (Boston)
Zero Centennial Drive

Peabody, MA 01960

Tel: (978) 326-3600

Fax: (978) 326-3700

SMC Pneumatics Inc. (Charlotte)
5029-B West W.T. Harris Blvd.
Charlotte, NC 28269

Tel: (704) 597-9292

FAX: (704) 596-9561

SMC Pneumatics Inc. (Chicago)
27725 Diehl Road

Warrenville, IL 60555

Tel: (630) 393-0080

FAX: (630) 393-0084

SMC Pneumatics Inc. (Cincinnati)
4598 Olympic Blvd.

Erlanger, KY 41018

Tel: (606) 647-5600

FAX: (606) 647-5609

SMC Pneumatics Inc. (Cleveland)
2305 East Aurora Rd., Unit A-3
Twinsburg, OH 44087

Tel: (330) 963-2727

FAX: (330) 963-2730

SMC Pneumatics Inc. (Columbus)
3687 Corporate Drive

Columbus, OH 43231

Tel: (614) 895-9765

FAX: (614) 895-9780

SMC Pneumatics Inc. (Dallas)
12801 N. Stemmons Frwy, Ste. 815
Dallas, TX 75234

Tel: (972) 406-0082

FAX: (972) 406-9904

SMC Pneumatics Inc. (Detroit)
2990 Technology Drive
Rochester Hills, Ml 48309

Tel: (248) 299-0202

FAX: (248) 293-3333

SMC Pneumatics Inc. (Houston)
9001 Jameel, Suite 180

Houston, TX 77040

Tel: (713) 460-0762

FAX: (713) 460-1510

SMC Pneumatics Inc. (L.A.)
14191 Myford Road

Tustin, CA 92780

Tel: (714) 669-1701

FAX: (714) 669-1715

SMC Pneumatics Inc. (Milwaukee)
16850 W. Victor Road

New Berlin, WI 53151

Tel: (414) 827-0080

FAX: (414) 827-0092

SMC Pneumatics Inc. (Mnpis.)
990 Lone Oak Road, Suite 162
Eagan, MN 55121

Tel: (651) 688-3490

FAX: (651) 688-9013

SMC Pneumatics Inc. (Nashville)
5000 Linbar Drive, Suite 297
Nashville, TN 37211

Tel: (615) 331-0020

FAX: (615) 331-9950

SMC Pneumatics Inc. (Newark)
3434 US Hwy. 22 West, Ste. 110
Somerville, NJ 08876

Tel: (908) 253-3241

FAX: (908) 253-3452

SMC Pneumatics Inc. (Phoenix)
2001 W. Melinda Lane

Phoenix, AZ 85027

Tel: (623) 492-0908

FAX: (623) 492-9493

SMC Pneumatics Inc. (Portland)
14107 N.E. Airport Way

Portland, OR 97230

Tel: (503) 252-9299

FAX: (503) 252-9253

SMC Pneumatics Inc. (Richmond)
5377 Glen Alden Drive

Richmond, VA 23231

Tel: (804) 222-2762

FAX: (804) 222-5221

SMC Pneumatics Inc. (Rochester)
245 Summit Point Drive

Henrietta, NY 14467

Tel: (716) 321-1300

FAX: (716) 321-1865

SMC Pneumatics Inc. (S.F.)
85 Nicholson Lane

San Jose, CA 95134

Tel: (408) 943-9600

FAX: (408) 943-9111

SMC Pneumatics Inc. (St. Louis)
4130 Rider Trail North

Earth City, MO 63045

Tel: (314) 209-0080

FAX: (314) 209-0085

SMC Pneumatics Inc. (Tampa)
8507-H Benjamin Road

Tampa, FL 33634

Tel: (813) 243-8350

FAX: (813) 243-8621

SMC Pneumatics Inc. (Tulsa)
10203 A East 61st Street
Tulsa, OK 74146

Tel: (918) 252-7820

FAX: (918) 252-9511

Europe

ENGLAND

SMC Pneumatics (U.K.) Ltd.
GERMANY

SMC Pneumatik GmbH
ITALY

SMC Italia SpA

FRANCE

SMC Pneumatique SA
HOLLAND

SMC Controls BV

SWEDEN

SMC Pneumatics Sweden AB
SWITZERLAND

SMC Pneumatik AG
AUSTRIA

SMC Pneumatik GmbH
SPAIN

SMC Espana, S.A.

IRELAND

SMC Pneumatics (Ireland) Ltd.
Asia

JAPAN

SMC Corporation

KOREA

SMC Pneumatics Korea Co., Ltd.
CHINA

SMC (China) Co., Ltd.

HONG KONG

SMC Pneumatics (Hong Kong) Ltd.
SINGAPORE

SMC Pneumatics (S.E.A.) Pte. Lid.
PHILIPRPINES

SMC Pneumatics (Philippines), Inc.
MALAYSIA

SMC Pneumatics (S.E.A.) Sdn. Bhd.
TAIWAN

SMC Pneumatics (Taiwan) Co., Ltd.
THAILAND

SMC Thailand Ltd.

INDIA

SMC Pneumatics (India) Pvt., Ltd.
North America

CANADA

SMC Pneumatics (Canada) Ltd.
MEXICO

SMC Pneumatics (Mexico) S.A. de C.V.

South America

ARGENTINA

SMC Argentina S.A.

CHILE

SMC Pneumatics (Chile) Ltda.

Oceania

AUSTRALIA

SMC Pneumatics (Australia) Pty. Ltd.
NEW ZEALAND

SMC Pneumatics (N.Z.) Ltd.

SMC offers the same quality and engineering expertise in many other pneumatic components

Valves

Directional Control Valves
Manual Valves

Mufflers

Exhaust Cleaners

Quick Exhaust Valves

Valves
Proportional Valves
Mechanical Valves
Miniature Valves
Fluid Valves

Rotary Actuators

Pneumatic Grippers

Cylinders/Actuators
Compact Cylinders
Miniature Cylinders
Rodless Cylinders

Vacuum
Vacuum Ejectors
Vacuum Accessories

Instrumentation
Pneumatic Positioners
Pneumatic Transducers

Air Preparation Equipment
Filters-Regulators-Lubricators
Coalescing Filters

Micro Mist Separators
Fittings

Air Fittings

SMC Pheumatics Inc.

P.O. Box 26640, Indianapolis, IN 46226

Tel: (317) 899-4440 »

FAX: (317) 899-3102



	MXS Air Slide Table
	Adjuster Options/Functional Options
	Precautions
	How to Order MXS
	Specs/Option/Theoretical Force/Weight/Std Stroke
	Table Deflection
	Model Selection
	Dimensions
	Shock Absorber, End Lock & Buffer Specs
	Construction

	How to Order MXS*L (Symmetric Style)
	Dimensions

	Auto Switch Information




